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_ Oe
Z, 1 (wl2 — q2) a—w; (2.61)
-~ 0 (w?e
Z7 ' = % (2.62)
000 g0 O00000000000000000
232 JO000O00OOCOOO
0 3
QV = (/J) fplasma (263)
f (a0 + a1€ + a8? + az€® + aa€t) et (2.64)
plasma = e3 h NL + by A2 + baA B £ by 4 '
1/3
_ P/ e 1
€= <109g Cm_3> A (2.65)
T
A= 5930 x 109K (2.66)

00 1082 <T(K)<10'°0000000000000 a,b;,c00 24000000 1070 < T(K) < 1032
0000000000000 a,c00000000000000

as =0 (2.68)

10842 S T(K) S 1011.0

ag aq as as Q4
8512E-7 -1.688E-12 3.702E-8 -3.908E-10 1.423E-11
bl b2 b3 b4 C

2.318E-2 1.499E-2 2.259E-3 -1.555E-5 5.914E-1

02400000000000000000000000 (1032 <T(K) <1090
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by =0 (2.69)
c=co+ (2.70)
x = logyy T(K) (2.71)

ooad ai,ﬁi,’yi,bi,ciDDD 250000

1074 < T(K) < 1082

i o Bi Vi ¢ b

0...... -2.464E-8 -2.031E-6 1.755E-5 -7.508E-1

1. 5.270E-7 -6.683E-6 2.024E-5 -1.719E-1 6.276E-2

2...... -1.428E-7 2.041E-6 -7.215E-6 6.792E-2

3. 1.537E-8 -2.276E-7 8.417E-7 1.825E-4
1070 < T(K) <1074

¢ Qi Bi Yi Ci b;

0...... 7.115E-7 -9.159E-6 2.660E-5 -7.301E-1

1. 5.289E-7 -8.525E-6 3.554E-5 1.832E-1 -1.957E-3

2...... -1.445E-7 2.384E-6 -9.958E-6 1.259E-1

3. 1.636E-8 -2.429E-7 9.231E-7 2.064E-5

02500000000000000000000000 (1070 < 7T(K) < 1082)0
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0
T -10 Log T (K) = 7.0 (n=2
i=
@)
» -0t
9,
o
& -30r

_40_
3 4 5 6 7

Log (p/4) [g cm]

0226:7T=10KO000000000000000O0ODO0O0OOO0O0O0ODOO00OODOOO0
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10F

Log T (K) =8.0 (n=2)

0
T
(ep]

' -10
(&)

()]

o

9D,

o —20
(@)

(@)

|

—-30

4 5 6 4 8 9 10
Log (o /) [g cm ]

0227:7T=10K0000000000000000000000000000000000
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20_ T T T | T ]

10r Log T (K) = 9.0 (n=2) -
F"cn

5 of -
0
=2
Q,

O 10k i
@)
o
—

_20_ _

_30 | | | | |
§) ! 8 9 10 11 12

Log (o/w) [gcm ]

0228:7T=10°KO000000000000000O000000000000000000
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28 T T T T T T

Log T (K) = 10.0 (n=2)

-3 -—1
N N
S (o))

Log Q[ergscm™s 7]
N
N

N
o

18

s 9 10 11
Log (p /) [g cm ]

0229.7T=10KO0000000000000000000OO0O000OOOO0OOOOO00
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3

Log T (K) = 11.0 (n=2)

‘v 30
e

&

92

o

9,

o

2 28
—

%% 1112

Log (p/m) [g cm ]

0230:7T=10YKO00000000000000O0O000O0O0O000OOO0O0OO0O000
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ubbooboboooboobooooboobooooboooobooboooobOobooooboOobooonog
OO0000O00000O0 231000000000000

% \/{
e;u v

0231:.000000000000000DO0O000DOOOOO

uboboobobooobooboooboobobooooboooobooboooobOobooooboOobooonog
oboobOobooooobobooooobooooooboonoo

oooooooooooooooooooooOoOoOoOo0oooooooboDroooooobooOO0d kT
oooooo0ooboo0o00 EpPO0D00OO0DODOOOODOODOOODODODOOO

Ep = kpTp (2.72)
0oooo

T>Tp 000 (2.73)

T~Tr DOOO (2.74)

T<Tp 0000 (2.75)

obooooOoboooobooboooooboboooooono

T = 0.3T (2.76)
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O0004HeO0O0OO0OO0OOT =0.01T, 0000
uboboobobooobooboooboobobooooboooobooboooobOobooooboOobooonog
roboooooooboon

Z2€2 1 22 L6 1/3
T = 22X 107 5 (I) 2.77)

0000a = (3/4mn;)/0000000000000007:00108K000000000000ps00
10¢ em=00000000000000

I'< 180 0OOOO (2.78)

I'> 180 OOOOO (2.79)

241 0UDOO00OO0OOOOOOOODODObOOODbObOOO

Z2
Qgas =0.5738(ergs cm > s 1) (A) TSp

1 1
X { [(CF + CR) +n (CV + CF)] Foas — 5 [(CV = C4) + 1 (CF = CF)] Ggas} (2.80)

2
1.26 (147!
Fyas = ap + a1Tgl2 + asT3° 1T b?TI(_1++nbz77)_2 (280
-3
1= 705 % 1(825“;1-)5(%%6;12 3< 10973 (2.82)
ap = 23.5 (2.83)
a; = 6.83 x 10* (2.84)
as = 7.81 x 108 (2.85)
by = 1.47 (2.86)
by = 0.0329 (2.87)
1 1
oo = 000 (e aa + a5 4 a5 ) b (o) 5 0+ e 0
az = 230 (2.89)
ay = 6.70 x 10° (2.90)
as = 7.66 x 10° (2.91)
by = 7.75 x 10°T3° + 247T3%° (2.92)
by = 4.07 + 0.0240T3-4° (2.93)
bs = 4.59 x 107°Tg %110 (2.94)

00000000000000010%° < p/pe(gem™3) <10*2°010%° <T(K) <101°0000
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242 0DOO0O0O0OOOODODODO

gboooOobooooboboooboobooooboboooooboooooboon

d3py d®ps dq d3qo
L= 0T 2.95
/ 2Ep1<27r>3/ 2Ep2<27r>3/ 2qu<27r>3/ 25, 2P’ (2.95)
000Op O p, 0000000 O0O0O0ODO0DODOOO0O0OODOOO04000000000¢ 0O ¢OOOOO

ooooo0O0OO0OO0OO0000000000000004000000000QOOO0O0O0OO0O0OOO0O00O
Oo0o0o0oO0o00ooOo0o00oboob0 4000000000000O

Q=q+¢ (2.96)

00000000000 .f0000000000000
e2GZ 2
o= <) [Tey® (1= 75) (Pqu)y 7" (1= 5) (4" 4,0),4]
V2
x {TrRY, (p2,p1: Q) [(*pu)1 +m] Ry (p1,p2; —Q) [(*Pu)y +m] }

3
X/Mdﬂ@ﬂ‘lg‘l (pl—pQ—Q—k)/d4Q04(q1+Q2—Q)

(277)3 2m
1 -
xn (By,) [L=n ()] ————5 (k.w) (2.97)
’k% (kw) ‘
0 _ 1 0
Ra (p27p1; Q) =Ya (CV - CA’Y5) (,y#p ) + ,-Y;LQ _ m'Y
)2 Iz
1
+ 4" Yo (Cv — Cavs) (2.98)

(7”pu)1 —YHQu —m

e(E,w)DDEIDDDDDDDDDDDS(E,w)DDDDDDDDDDDDDDDDDDwD 400000 kO

oooooooo
ooboooooboobooooooooboboboo0oobo0ooboboboboooobbooobboooboOooDo

gboboobobooboobooooboobooooono

s
1 ~ 0Pu)y m (2.99)
(Y*Pu)y +YHQu —m 2p2 - Q
1 (Y*pu)y +m
~ — 2.100
(Ypu)y — YHQu —m 2p1-Q ( )

0odo00odoodooooOdoOdoodDdDlD w—00000D00OD0ODODOODOODOODOODOO
uboboobobooooboboooooboboooooboooobooboooobOobooooon

L A
= =0.5738 “lghZ 78
; (ergsg™" s ") 1 s

x {; [(CF +C3) +n (CF + CZ)] Friguia — % [(CE —C3) +n(CF - CF)] G”qmd} (2.101)
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Fiiguid = t/ d(1| ”'11[ 11(g) + To@) + Is(q) + a(q)] (2.102)

(q,0)
L S@)If(@f 11
Gliquid = /0 dqug [J1(q) + Ja(q) + J3(q) + Ja(q)] (2.103)
Li(g)=2(B*—1) (B> —¢*) [;ﬂ (1-6%)1n % + 6% - g] (2.104)

1 z (1—2?%) gr+ [ - (1—¢2 x2]1/2 510
XAd%W—uq%P”lm—W—u 2) 22)'/? (2109
oy —o (g1 [ x gr+ [3* = (1-¢%) ]
I3(q) = 2¢° (B 1)/0 dx(IWQ ETEpTye In (" (2.106)
Ii(q) = 2¢° (B> — 1) [;6 (82 —1)In g+ ! -+ ] (2.107)
J1 = 3[1((]) (2108)
Jolq) =— [4¢ +3 (8> — ¢*)] (87 —1)
1 x (1 — a:2) right qr + [52 — (1 — q2) xQ] 1/2
: /0 dxq (6% — (1 - ¢%)2?)"/? . gr — 82 — (1 — ¢?) 22]'/? (2109
Js(q) = I3(q) (2.110)
Ju(q) = 14(q) (2.111)

S(¢)D00000000U0O000O000UOUg0I'OD000000UO0OUO0OO0DOOUOOOUOOO
000000000000 0000O00O0O s o000O0000o0o0O0O000OD 23200000000
flDOOODODODOOUDOOUO0ODO0OU0O0DDO0O00O0D0O0O0O00O0D0OUDO0OO0OUD|f(g=10000

2kpreq) cos (2kpreq) — sin (2kpreq)
(2kFch)3

OO00D0kp0 . 0000D0CO0O0ODODOOODOOOOOOOOOOOODOgO 2kp00DOOODOOOO
coooooo0oO0pO0O0O0O0OOoOoOoOoDoOO

f(q) = 3

(2.112)

Er

. 1/2
= [l+ ——————73 2.113
hkpc [ 1.018 ( )2/3] (2.113)

8=
6/ e
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O000FE,00C000O00000O000DOOO0000O0O0196200 JancovicDOOOOOODOOOOOO
oooobooboooobobooonog

2/3 2
2 s [2 2%y . . _
mﬁﬁd+(> r[(uwwm—%fmmly

32 q? |3
2 2,2
122 +1-3¢%y ‘1+q‘
+ (1442 In
@+v) 6gy? 1—gq
20212 — 1 1+21/2+1+221/2
+ 272 (14 ¢%%) P In atl+y )1/2 (L+d% )1/2 (2.114)
6qy q(1+y2)"" = (1 +¢%y?)
hkp 1 fom\'* |
_ _ om - 2.115
Y= e T 1370 ( 1 ) " (2.115)
AN\ 1/3
m=13%x1wﬂ<) (2.116)
P6
0000000000000000000000
1/3
m?=2613x1m0<p6> em™! (2.117)
Lhe

gbboobOoboooooboooobobooooboooo

1.15x 10718 AY3cm  p<4.3x10Mgem3 000
ro = (2.118)
1.83 x 10713 ZY3ecm  p>43x10Mgem 3000

‘He,!2CFe 0 30000000000000000000000000000L=0,|f(g)=1/000
000000000000

243 J0O0O0O0OOOODODObDDODOOO

goooboobooooooo
u = 27 (logy, p) /25.6 (2.119)

00000000000000000000000000000000000000000000000000
1099 < p <108 (gem™?)00.1 << 180000000000005%000000000000000
000000000000000000000

Qliguia =0.5738(ergs em ™3 s )T p
1
< {51 +C3) +0 (€ + C)] Fugua
—;[(05-—Cﬁ)*—n(Cg-—Cf)]Gumnd} (2.120)

Eiquid(u, F) = UFliqm'd(u, 0.1) =+ (1 — U)Eiquid(u, 180) (2121)
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4He IZC 56F€

A eeeee. 0.1843 0.2210 0.2926
a2 -0.0644 -0.0980 -0.1513
A3 0.0025 0.0078 0.0249
Ogonee. 0.0089 0.0088 0.0031
A5eneee. -0.0039 -0.0021 0.0033
AGeennne -0.0093 -0.0127 -0.0184
7 0.0031 0.0051 0.0091
A8.vee. 0.0003 -0.0004 -0.0022
ag...... -0.0005 0.0001 0.0013
Q10 - -0.0014 -0.0021 -0.0032
b 0.0482 0.0543 0.0557
Cerrns 0.1234 0.1259 0.1253
dy...... 0.0406 0.1116 0.2485
da...... 0.0373 0.0182 -0.0322
dg...... 0.0053 0.0143 0.0326
dy...... -0.0092 -0.0074 -0.0144
ds...... 0.0022 0.0056 0.0085
dg...... 0.0032 -0.002 -0.0122
drp...... 0.0005 0.0014 0.0049
dg...... -0.0013 -0.0018 -0.0036
dg...... 0.0006 0.0012 0.0021
dig...... 0.0004 -0.0008 -0.0026
€. -0.0053 0.0027  0.013

fonn. 0.1109 0.1148 0.1281

026:000000000000@0O0OC0O00O0O0)000000000 Flhguia(w,0.1), Fligua(u, 180)0

Gliguid(u,T) = wGliguia(u, 0.1) + (1 — w)Gliguia(u, 180)
Fiiguia(u,0.1) = 7?_):1 am Sinmu + ?bu +c
Fiiquia(u,180) = mi_():l dpy, Sinmu + 11—.86u +f
Gliquia(u,0.1) = mi_o:l Gm Sinmu + 1i—'8hu 41
Gliquid(u, 180) = i Jm sinmu + %ku +1

m=1
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(2.124)

(2.125)
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1o 120y 56 Fa
Glovennn 0.0738 0.0833 0.0929
G2.eeennn -0.0193 -0.0190 0.0173
G3.nene -0.0259 -0.0304 -0.0349
Gdoennn 0.0024 0.0037 0.0059
G5eennn 0.0089 0.0102 0.0111
G6-neeen -0.0048 -0.0058 -0.0072
[ L -0.0028 -0.0031 -0.003
G8.rennn 0.0022 0.0027 0.0032
G9erennn 0.0004 0.0004 0.0002
[T -0.0011 -0.0013 -0.0014
he.... -0.0019 -0.0019 -0.0019
Tovenns 0.0239 0.0244 0.0243
Jleeeen 0.0077 0.0238 0.0512
J2uenens 0.0112 0.0165 0.0231
FET 0.0003 -0.0043 -0.0135
Jdeeeen -0.0023 -0.0019 -0.0009
J5eeeene 0.0004 0.0029 0.0058
JGeeeens 0.0009 0.0001 -0.0023
JTeeeene -0.0001 -0.0012 -0.0024
J8uerene -0.0003 0.0001 0.0011
J9ereens 0.0000 0.0003 0.0004
J10-weees 0.0001 -0.0002 -0.0007
k...... -0.0017 -0.0017 -0.0019
L. 0.0215 0.0222 0.0248

027:.000000000000(@0O00O000O0O)000000000 Giiguia(u,0.1),Griguid(u, 180)0

3
v= E ™

m=0

3

m=0

x = 0.614391og,, T’ — 0.38561

ooooOo0o00000 2600 2700000 280000
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(2.129)



4He IZC 56Fe

QQ-erees 0.2107 0.2408 0.1973
Qe -0.5256 -0.5375 -0.6582
Qg...... 0.2990 0.2686 0.3027
O3eennns 0.0266 0.0366  0.1542
B0 0.2193 0.2402 0.2009
Bieeee. -0.5188 -0.5395 -0.6559
B2 0.2899 0.2692 0.2995
JCZ T 0.0194 0.0386 0.1521

028000000000000@OOO0OOO)0DO0O0O0OOO0O v,wO

244 0DOOOOODOO

uboboobobooobooboooboobobooooboooobooboooobOobooooboOobooonog
ooooooboooo

20000000000000000O00O0O0O0O0O0O0O0O0O0OO0O0DO0O0 (Z41,A41)0(22,A5)00
000000000000000X,0X,0000 X;+X,=100000(2120000000000000
oood

Quiquia =0.5738(ergs cm ™3 s TS p

[ 72 (1
2 {118 + ) o (€8 + ) P

1
~5 (% =€) 40 (€2 - C)] Guugua T1) |

2
+x, 2 {1 [(C3 +C%) + 1 (CZ + C%)] Fiiguia (Ta)

As |2
1
5 [(C% ~ C3) +7(C ~ C)] Griguu <r2>}] (2.130)
1Z'2 P6X; 1/3
I, =22 o7tz (2222 i=1,2 2.131
i 75><OT8(A1-) (i ,2) (2.131)

obooobOobooooboboooooboboooooboooooaon

245 J0O00O0OOOoOOobDOobDDbOobDOoOO

0000000000000000000000000000000000000000000000000
00000000000 static lattice 000 00 (Quattice) O phonon 00 000 (Qphonen) 00000 0O
000000000000000000000000000000000000000010* < p10'2[gcm™3]0
171<I'<5000 0000000000000 000000000000000000000000000
0000000000000 00000(@O00 [M4oe)or=17100000000000000000
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1o 12(y 56 Fe
AQeeeee. -0.02296 0.03677 0.04192
A eenee. 0.01601 -0.01066 -0.01768
ag...... -0.00433 -0.00458 -0.00007
A3 0.00015 -0.00177 -0.00241
Ggeeee. -0.00034 -0.00138 -0.00080
bi...... 0.01558 -0.00244 -0.01705
ba...... 0.00191 -0.00206 -0.00268
bs...... -0.00055 -0.00037 -0.00141
Cuenns -0.01694 -0.01093 0.00818
d...... 0.10649 0.12431 0.13629
€0.neees -0.03654 0.04719 0.09256
€1 enns 0.02395 -0.01353 -0.03290
T -0.00448 -0.00619 -0.00523
€3urnn. -0.00033 -0.00211 -0.00539
€4unnns -0.00088 -0.00176 -0.00276
froeen 0.01730 0.00456 -0.02574
foun 0.00402 -0.00174 -0.00630
JET -0.00005 -0.00031 -0.00285
Goeenn -0.02222 -0.02259 0.00022
h..... 0.13969 0.20343 0.31871

029:000000000000@CO0O0O0OOO0)000000000 Flatice(u, 171), Flattice(u, 5000)0

giL<rgLsooogoogoooooooooboobooooo ropoo r=1800o0o0o0oo0oogoon

gbooobOobooboooobobon

Qc’r‘ystal = Qlattice + Qphonon

Z2

u = 2m(log;o p — 3)/9

Quattice =0.5738(ergs cm ™3 s_l) () Tgﬁpfbmd

A

(2.132)

(2.133)

X {; [(CY + C%) +n (CF +CF)] Frattice — % [(C3 —C%) +n(CF—CF)] Glam-ce} (2.134)

f — ex _2%and
band — p kBT
2Vhana _ 0.001192%/hkpc

kT

kT
_ “a, (PP
—7.12% 10 Z(A> T;
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4He 120 56Fe

L0wreens -0.00647 0.00106 0.00977
T ernee 0.00440 -0.00048 -0.00653
19eeene -0.00110 -0.00022 0.00171
13uueees 0.00001 0.00019 -0.00024
Tdeneen. -0.00007 -0.00001 0.00017
J1eveens 0.00294 0.00658 0.00869
J2enneen 0.00059 -0.00180 -0.00323
JET -0.00018 0.00036 0.00075
k... -0.00337 -0.00398 -0.00439
l.... 0.02116 0.02499 0.02766
DOeeens -0.00938 -0.00047 0.01464
Dleeens 0.00610 0.00063 -0.00957
D2 -0.00114 -0.00064 0.00222
D3eeee -0.00010 0.00030 -0.00022
Dieens -0.00018 -0.00006 0.00025
QLeeen 0.00320 0.01013 0.01867
q2eeee.. 0.00107 -0.00247 -0.00615
q3eee-n -0.00008 0.00052 0.00133
Tereen -0.00442 -0.00650 -0.01023
Seeienn 0.02775 0.04087 0.06442

0210:000000000000(C0O00000O0)000000000 Giatice(u, 171), Giattice (u, 5000)0

ZQ
Qphonon =0.5738(ergs cm ™3 s71) (A> TSpf

1
< {5108 +C2) + 0 (6 + CR)] Fypann

1

~5 1€~ ) +n (P - )] a} (2.137)
Eattice(u, F) = (1 - v>ﬂatti66(u7 171) + ’UFlattice(uy 5000) (2138)
Glattice (’LL, F) = (1 - w)GlattiCG(uv 171) + wGlattice(“v 5000) (2139)
thonon = vlF;zl)honon (’U,, 171) (2140)
Gph(m(m = le;honon(uv 171) (2141)

a 4 3
Flattice(u,171) = % + ) amcosmu+ Y by sinmu+ cu+d (2.142)

m=1 m=1
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4He 12C 56F€

oo -0.01317 0.02231  0.02584
- 0.00957 -0.00589 -0.00894
dh..... -0.00204 -0.00279 -0.00097
A -0.00005 -0.00073 -0.00125
- -0.00003 -0.00043 -0.00045

. 0.00661 -0.00095 -0.00739

i 0.00135 -0.00059 -0.00190
Byeo.... -0.00035  0.00002  -0.00062
. -0.00811 -0.00729  0.00167
... 0.05098 0.06630  0.09950
- -0.00338  0.00024  0.00480
T 0.00231  0.00018 -0.00271
T~ -0.00047 -0.00028  0.00047
T -0.00003 0.00012  0.00001
T 0.00000 -0.00004 -0.00001
e 0.00111 0.00339  0.00604
howeons 0.00042 -0.00082 -0.00197
I -0.00010  0.00015  0.00044
K -0.00161 -0.00212 -0.00320
V.. 0.01013 0.01332  0.02012

0211:000000000000(@0000000)000000000 Fpnen!

Eattice (U, 5000) =

Glattice (U, 171) =

Glattice (’LL, 5000) =

p

;)honon (’U,7 171) =

F/honon(u’ 171) =5

3

4
%0 + Z € COSMU + Z fmsinmu+ gu+ h

m=1 m=1
; 4 3
0 . .
— k l
9 —&—mz::lzmcosmu—l—mzz:ljmsmmu—k u +

3
Z Qm Sinmu +ru + s

m=1

4
% + mecosmu—i-

m=1
3
E bl sinmu + c'u + d’

m=1

, 4
C;O + Z a,, cosmu +
m=1
3
Z grosinmu + k'u + 1

m=1

" 4
Yo v
0 + E 2,, COS MU +

m=1

3
v = Z a,, [ ~"/3
m=0
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u,171), G

/
phonon

(u,171)0

(2.143)

(2.144)

(2.145)

(2.146)

(2.147)

(2.148)



1e 12¢y 56 Fa
Qe 1.6449 0.6252 0.6798
Qe -23.2588 10.6819 12.7527
Qe 272.1670 -70.6879  -140.1800
Q3 -1074.7000 -44.3349  268.8290
Bo.eees 1.6443 0.6307 0.7783
G -23.2414 10.4966 10.2315
B2eeee. 272.0080 -68.7973  -124.2640
JCZ T -1074.2500 -50.0581  241.3060
Qe -0.1394 0.5481 0.2847
T/ 7.0680 -20.4731  -13.0828
Qe -115.5940 224.9220 192.5030
. 619.9170 -534.9400 -543.1480
[/ -0.1394 0.5413 0.3221
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— 4w {p1ap2s + P1aP20 — Gop(p1 - P2)} (A.30)

Tr [ty kéys) = 2k Tr [Hhéys] — wiTr [fyadys)
= 8k, {(e “k)eg+ (e k)eg — k[-}€2} - 4wg {eae[g + €geq — ga562}
= 8kukp — 4wi(2¢0€s + gap) (A.31)
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0000 (A28) 000000000000 000000
1
T [0 (Cy = Cas) (B + m)bys (Cy = Cars) (b +m)]

1 1
= (O3 + C)Tr [Hyapybbsh,] + mP(CF — CR)Tr [Hyo k)

:(C\Q/ + 031) {4€ﬁka(P2 €)(k-p1) - ngplaeﬁ(m “€) — 2€q€p [Q(k? -p2)(k - p1) — W%(ZH 'Pz)]
— 2kap1p(p2 - k) — 2kakp(p1 - p2) + 2kapas(k - p1) + 2(p2 - k) [kapis + kppra — gap(k - p1)]
—wj [Prap2s + P1aD2o — Gap(p1 - p2)|} +m* (CF — CF) {2kaks — w§ (2€a€s + gap) }
=(CY + C) {4epkalk - p1) (e p2) = 2wipracs(e - p2) = 2¢acp [2(k - p2)(k - p1) — Wi (p1 - p2)]
+ 2kgpia(p2 - k) + 2kapas(k - p1) — 2kaks(p1 - p2) — 2gap(k - p1)(k - p2)
~wg [Prap2s + Prpp2a — Gap(pr - p2)]} +m*(CF — C3) {2kakp — wi(2€aes + gap) }
(A.32)
3. —yp 00

1o [sa(Cv = Care) (92 + 328) (B + ma(Cv = Cone) (9100 + 38 (4 +-m)|

=(p1-€)(p2 - )Tr [va(Cv — Cas) (b + m)vs(Cv — Cays)(hy +m)]

+ ;(pl €)Tr [a(Cv — Cays)ék(py + m)vs(Cy — Cavys)(By +m)]
+ %(m <€) Tr [va(Cv — Cavs)(by + m)ys(Cv — Cays)ké(py +m)]
+ 1 Te (O — Cas k(b + m)s(Cy — Car) k(s +m)] (A33)

(p1-e)=00000000 (A33)00 1000200 000000000
Tr [Yabovskéd]
=(e - p1)Tr [YabrVsk] — €aTr [hovskib] + (€ - p2)Tr [vavskdy] — €aTr [yabokpy] + (€ - k)T [Yabovsb:]
=4(p2 - €) [Praks — Prpka + Gap(P1 - k)] — dea [p25(k - 1) + kp(p1 - p2) — prp(k - p2)]
—deg [p2a(k - p1) — ka(p1 - p2) + p1alk - p2)]
=4(p2 - €) [p1aks — P1gka + gap(p1 - k)] — 4(k - p1)(eap2p + €5p2a)
— 4(p1 - p2)(€akp — €gka) + 4(k - p2)(€ap1p — €8P10) (A.34)

0000 (A33)00 3000000000000000

5 (P2 T a(Cy = Cars) (b + m)a(Cr = Cars)bE(ly + )

1 1
=§(p2 - 6)(Cy + CA)Tr [Yabyvskéh, ] + gmz(m - 6)(Cy — C)Tr [yavské]

=2(CY + C2) {(p2 - €* [Praks — Prgka + gap(p1 - k)] — (p2 - €)(k - p1)(€ap2p + €ap2a)
—(p2 - €)(p1 - p2)(€akp — €gka) + (P2 - €)(P2 - k)(€ap1s — €5P10) }
+2m?(pe - €)(C% — C3)(eakps — €5ka) (A.35)
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oood

Tr [yatkpyyskép ]
=2(p2 - k) Tr [Yabyshképy] — 2k Tr [Yabpoktp)] + 3 Tr [yatbyypth]
=2(p2 - k) {—2eaTr [bvskib:] — Tr [Yavskiby ]} — 2ks {—2eaTr [ty kpy] — Tr [vabokiy ]}
+wi {—2eaTr [Bhophi] — Tr [raborshi]}
= —16(p2 - k)eacs(k - p1) — 8(p2 - k) [p1akp — Prgka + gap(k - p1)]
+ 16€eakp(€ - p2)(k - p1) + 8kg [p2a(k - p1) + Pra(k - p2) — ka(p1 - p2)]
— 8wiea [Pip(e - p2) — ep(pr - p2)] — 4w§ [Prap2s + P1sP2a — Jap(P1 - 2)]
= —16eaeg(k - p1)(p2 - k) + 16€aks(k - p1)(€ - p2) — 8(p2 - k) [Praks — prgka + gap(k - p1)]
+8paaks(k - p1) + 8praks(k - po) — 8kaks(pr - p2) — 8wj [eapis(e - p2) — cacs(p1 - p2)]
— 4w} [P1ap2s + P1aP20 — Gap(P1 - P2)] (A.36)

Tr [y tkvypké]
=Tt [yakéyptk]
=2k Tr [kéysé] — wiTr [Yabysé]
=8k [(k-e)ep +ep(k - €) — kpe®’] — dwi(eacs + cats — gage’)
=8kokp — 4wi (2605 + Gas) (A.37)
0000 (A33)00000000000000000
in [Va(Cv — Cavs)ék(by + m)ys(Cv — Cavys)ké(hy +m)]
= (G} + CA)Tr Drabbhyyskbpy] + m?(CF — C3)Tr bbb
=(CY + C4) {deaks(k - p1)(e2 - p2) — 2wieaprp(e - p2) — 2eaep [2(k - p1) (k- p2) — Wi (p1 - p2)]
+ 2p1akp(p2 - k) — 2kakp(p1 - p2) + 2p2akp(k - p1) — 2(p2 - k) [P1aks — P1gka + gap(k - p1)]
—wi [Prap2s + P1gP2a — Jap(p1 - p2)]} + (CF — C)m® {2kaks — 0§ (2¢ats + gap) }
=(C% + CF) {4eaks(k - p1)(e2 - p2) — 2w5eapip(e - p2) — 2€aep [2(k - p1)(k - p2) — Wi (p1 - p2)]
+ 2kap1g(p2 - k) + 2p2aka(k - p1) — 2kaka(p1 - p2) — 2gap(k - p1)(k - p2)
—wi [Prap2s + P1gpoa — Gap(p1 - p2)]} +m*(CY — C4) {2kaks — w5 (2¢ats + gap)}  (A.38)
D0000—-(By+46)000000000000000O0

— (B +yB)term
=2(CY + C2) {29ap(p1 - k) (€ p2)* — 2(cap2p + €pp2a) (1 - k) (€~ p2) + 2(€aks + egka) (k- p1)(e - p2)
— wi(€ap1s + €8P1a) (€ - P2) — 2eaes [2(k - p1)(k - p2) — wi(p1 - p2)] + (P1aks + P1ska)(p2 - k)
+ (p2aks + papka) (k- p1) — 2kakp(p1 - p2) — 2gap(k - p1)(k - p2) — w§ [Prap2p + P1aP2a — Gas (D1 - P2)]
+2m?*(CY — C3) {2kaks — wi (2eaes + gap) } (A.39)
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4. 4200

T 1a(Cv = Caoa) (2 ) + 508 () (9200 + 58 (Cv = Coara)ly +m)

=(p2 - )°Tr [7a(Cv — Ca7s) (hy + m)v3(Cy — Carys) (b, +m)]

52 T (O — Cans) (b + m)bs(Cy = )y +m)]
+ %(pz <€) Tr [va(Cv — Cays )tk (py + m)vs(Cy — Cays) (B +m)]
+ 1 Tx (O — Coas )k + m)kbys(Cy — Coas) by +m)] (A.40)

0A40)0010000000000000

(p2 - €)*Tr [Ya(Cy — Cas) (by + m)y3(Cv — Cas)(By + m)]
=(p2 - ©*(CY + CATx [yabovshi] + m*(CF — C2)(p2 - €)*Tr [vays]
=4(ps - €)*(CY + CF) [Prap2s + P1aP2a — Gas(p1 - p2)] + 4m>(p2 - €)*(CY — C3)gap (A.41)

ooo

Tt [Yabokévshi] =esTr [Yabokiby] — (€ p1)Tr [Yaboks] + €aTr [Bokyspr] — (e p2) Tt [yakvsp1]
+ (e - k) Tr [Yaboysp1]
=deg [p2a (k- p1) + pra(k - p2) — ka(p1 - p2)] + 4€a [=p2p(k - p1) + p1g(k - p2) + ka(p1 - p2)]
— 4(¢ - p2) [kap1p + kspra — gap(k - p1)]
=4(p20€s — P2p€a) (k- p1) + 4(P1a€s + P1s€a) (k- P2)
+ 4(e2akp — €gka)(p1 - p2) — 4(e - p2) [kap1s + kspia — gas(k - p1)] (A.42)

Tr [yakévg] =4 [ka€s — €akp + gap(k - €)]
24(ka65 - kgea) (A.43)

0000 (A40)00 20000000000000

%(Pz €)Trya (Cv — Cavs) (e + m)kévys(Cv — Cavs)(hy +m)

1 1
=52+ )(CV = CA)Tryapakerspr + 5 (p2 - )m?*(CF — C3) Tryakeys

=2(CY + C2) {(p20€s — p2s€a)(k - p1)(e - p2) + (P1a€s + P1g€a) (k- p2)(€ - p2)
+(€aks — €gka)(p1 - p2)(€ - p2) — (kap1g + kgpia — gas(k - p1)) (€ - p2)?}
+2m?(CE — C%)(kaes — kgea) (e - p2) (A.44)
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oood

Tr [Yatkpyvshi] =(e - k)Tr [Yaboypbi] — (€ p2) Tr [vakyphi]
+ e Tr [yakpopy] — (€~ p1)Tr [vakbovs] + €aTr [kpyyspi]
= —4(e - p2) [kap1p + kgPra — Gap(k - p1)] +deg [ka(p1 - p2) + Pra(k - p2) — p2a(k - p1)]
+ 4ea [—kg(p1 - p2) +p1s(k - p2) + p2s(k - p1)]
= —4(e - p2) [kap1s + kppra — gap(k - p1)] + 4(ka€s — kpea)(p1 - p2)
+4(eap1p + €ppP10) (k - p2) + 4(€ab2p — €sp2a) (K - p1) (A.45)

Tr [Yatkys] = 4(eakp — egka) (A.46)
0000 (A40)00 3000ooooooooog

%(m <€) Tr [7a (Cv — Cavys)ék(py +m)ys(Cv — Cavys) (b +m)]

1 1
=3 (P2 (C + CRITr lralkbyyahs] + 5m(p2 - )(C} — CHTr [rat

=2(C% + C2) {—(p2a€s — p2s€a) (k- p1)(€ - p2) + (P1a€p + P1g€a) (k - p2)(€ - p2)
—(eakp — €gka)(p1 - p2)(€ - p2) — [kap1s + kapra — gop(k - p1)] (€~ p2)?}
- 2m2(C‘2/ - C’i)(kaeg — kgeq)(€-p2) (A.47)

00000 (A40)00 2000 300000000000000O00O

502 T Dia(Cy = Cana) g+ m)Ba(Cy — Cons) by + )]

+ %(pz - €)Tr [y (Cv — Cavys)ék(p2 +m)ys(Cv — Cavs) (b +m))

=4(Cy + C2) {(pracs + prgea) (k- p2) (€ p2) — [kap1s + kgp1a — gap(k - p1)] (€ - p2)?}  (A.48)
oog
Tr [yatkpokéysp, |
=2(k - p2)Tr [yatkéyppy] — ngf [Yatbotvshi]
=2(k - p2) Tr [Yakyap;] — 205 (P2 - €) Tt Yabyahi] — wi Tr [Yabovsbi]

=8(k - p2) [kap1s + kapia — gas(k - p1)] — 8wi (p2 - €)(€aPis + €aP1a) — 4w (PraD2s + P1sP20a
— Jap (Pl 'P2)) (A.49)

Tr [Yatkkéys) = — Wi Tr [yays]
= — 4wigap (A.50)
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0000 (Ad0)DO0D0D0DOO0O0O0O0O0O0O0OO0OO0OO

iTr Ya(Cv — Cavs)ék(py + m)kéys(Cy — Cavs) (b + m)]

_1
T4
=(C% + C2) {2(k - p2) [kap1s + kgpra — gas(k - p1)] — 2w5 (P2 - €) (€ap1s + €5P10a)

1
(CV + CA)Tx [yabkpybbyshi] + m?(CF = CR)Tr [abkiéyg]

—wi [Prap2s + P18P2a — Jop(p1 - P2)]} — M*wi (CF — C2)gas (A.51)

gbooooOoboooooobooon

Eap =02 {(CY + C3) 2(p1 - k) (D20ks + Dapka — Gap(p2 - k)
~w (Prab2s + P1aP2a — Jap(P1 - p2))] — m*wi(CF — C2)gap }
=287 {(C} + C3) [29ap(p1 - k) (€ - p2)* — 2(capap + €20 ) (p1 - k) (€ p2)
+ 2(caks + epka)(p1 - k) (€ - p2) — wi(eabris + €apia) (€ - p2) = 2cacs(2(k - p1) (k- p2) — 0§ (p1 - p2))
+ (praks + P1pka) (P2 - k) + (P2aks + P2pka)(k - p1) — 2kaks(p1 - p2) — 29ap(k - p1)(k - p2)
—wh (Prap2s + P1aP2a — Gap(p1 - p2))] +m*(CF — CF) [2kaks — wi(2¢acs + gap)] }
+ ’Yz {(0\2/ + 0124) [4(P1ap2ﬁ + P18P20 — Gap(P1 - P2)) (P2 - 6)2
+4(pra€s + prgea) (k- p2)(€ - p2) — 4(kaprs + kapia — gap(k - p1))(p2 - €)°
+2(kap1s + kgpra — gap(k - p1))(k - p2) — 205 (€aprp + €pp1a) (€ - p2)

—wi (Prap2s + P1aP20 — 9ap(p1 - P2))] +m*(CY — C3) [4908(p2 - €)° — wigas) } (A.52)

O00EI**0000000001% =(Q*Q° -¢*Q?) 0000

1. 8200
(CF +CR) {2001 - 1) [(22- Qb Q) — (k- p2)Q° + (02 Q) - Q) — (k- p2)Q° — (k- p2)Q° + 4(k - p2) Q7]
—wi [(p1- Q) (p2- Q) — (p1-p2)Q + (p1- Q)(p2- Q) — (p1 - P2)Q° — (p1 - p2)Q% + 4(p1 - p2)Q°] }

—m*wj(CF — C3)(Q* - 4Q%)
:(C\Q/ + CE&) {2(171 - k) [2(272 “Q)(k-Q) + (k '102)Q2] - Wg [2(171 “Q)(p2- Q) + (p1 '292)@2]}

+ 3m*wi (CE — C3)Q? (A.53)
0DO0po(CE+c3) 0000000

1
E=(p-k)+ §w§ (A.54)

1
n=(p2-k)— §W§ (A.55)

Q? =2m® + wg +2(p1 - k) — 2(p1 - p2) — 2(k - p2)
=2m” + wj + 26 — wi — 2(p1 - p2) — (20 + wp)

:2m2 + 2€ _ 277 _ wg _ 2(]71 . p2) (A56)
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1 1
(pr-p2)=m”+&—n— gwg - §Q2 (A.57)
2

(p2- Q) =(p1-p2) + (k-p2) —m

1 1 1
=£—n—§w§—§Q2+n+§w§
1
=£ - §Q2 (A.58)

(k- Q) =(kp1) +wj — (k- p2)

1 1
:§—§w§+wg—n—§wg

={—n (A.59)

(p1- Q) =m” + (p1- k) — (p1 - p2)

1 1 1
=m® + &~ swy —m? —E+n+ swg + 507
2 2 2
1 2
goooooooo

2(p1- k) [2(p2 - Q) (k- Q) + (k- p2)Q?]
—2—ud) (26~ QU6 ) + 0+ 3 ) ]

=(26 —wg) |26(€ —m) = QX € —m) +nQ” + ;w?;@ﬂ

~(26 - ) 6026 - 20— Q)+ 20" + 3R
=26%(26 — 20 — Q%) + 40 Q” + wiEQ” — WK (26 — 21 — Q%) — 2wWFQ” — %wécf
=26%(26 = 20 — Q% — wf) + 4nQ” + wiEQ” + Wit (2n + Q) — 2nwiQ” — %wé@z

=2€%(2€ = 20 — Q* — wg) + 2N(2Q° + wi) + 265 Q" — 2NwiQ” — éwéQz (A.61)

2(p1- Q)(p2- Q) + (p1 - p2)@Q?
=2 (1450 (6-502) + (m? o+ €on- e - 50°) @2
2+ (=)@~ 5@+ (w2 €0 - gk - 30°)

=20 +2(6 - )@ ~ Q' + Q7 — JuhQ? (A62)
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—wi [2(p1- Q)(p2- Q) + (1 - p2) Q]

1
— — 2mf — 2(6 — i Q® + wiQ" — wim?Q? + SwiQ® (A.63)

2(p1 - k) [2(p2 - Q)(k - Q) + (k- p2)Q%] — wp [2(p1 - Q) (p2 - Q) + (p1 - p2)Q?]
=262(2 — 2~ Q7 — wh) + 460 Q7 + 26t + 26~ MwRQ? — JwhQ?
— nf — 2(6 ~ RQ? + JuRQ7 +AQHQ — )

=26%(26 - 21— Q% — wp) + 46nQ° + WiQ*(Q* — m?)

=202 287" =) - Q* — W3] +487 11 Q% + wpQ%(Q% — m?) (A.64)
agood
B2 term
=(Cy + O [A(B7 =771 = 2(Q + wf) +48771Q% + F2fQ*(Q* — m?)] + 3m*(CY, — CH)wjQ*5°
(A.65)
2. —2py00

2¢% [2(k - p1)(k - p2) — wi (p1 - p2)] Q% + [2(p1 - Q)(k - Q) — 2Q%(p1 - k)] (p2 - k)
+ [2(272 “Q)(k-Q) - 2Q2(k ‘pz)] (k-p1) —2(k- Q)Q(Pl “p2) + 200?)(?1 ‘P2)Q2
—2Q%(k - p1)(k - p2) +8Q% (k- p1)(k - p2) — wi(2(p1 - Q)(p2 - Q) + (p1 - p2)Q%)
=—2(k - p1)(k-p2)Q° + 303 Q%(p1 - p2) +2(k - p2)(p1 - Q)(k - Q) +2(k - p1)(p2 - Q) (k- Q)
—2(k- Q)Q(pl "p2) — 2W(2)(p1 “Q)(p2- Q)

~ 26 - e+ 3R)Q? + 3aBQP (w2 € 0 - gk - 5°)

a1 )+ 3 e-19)
—2(6 - ) <m Ley 1on)2 2(n+ Q>(€1Q2>

== 261Q% — WiQ*E + Wi + wocf +3m*wiQ” + 3wi Q¢ — BwiQ*n — 3‘@2 - %wé@‘*
+2(6 —n)® +4(€ —n)én — (Q2 +wp)(E—n)?+ Qw5 —n)
—2(&—n)’m® —2(§ —n)* + (Wi + Q%)(E —m)® — 2wpén — WFQ* (€ — ) + lwﬁQ“
== 2(Q* + wi)&n + 2wiQ* (€ — n) — Q% (Wf + Q%) + 3m>wiQ® + 4(€ — n)én — 2(5 n)?*m
= —2(Q° + w3)én + wiQ® [2(§ — ) — wi — Q% +3m?] + 4(§ — n)én — 2( — n)*m
~ 2@ +R)en + FQAQ? — ) — 2AQ? @ = (€~ ) — 2 + SR | +A(E — m)en — 26 — )
(A.66)
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E=p0"" (A.67)
n=7y" (A.68)

OD00O0(CE+C%)(e-p2x)?0000000

—6Q%(p1 - k) — 2(—2p2 - Q — 2Q°)(p1 - k) + 2 [—2(k - Q)] (p1 - k) + 203 (p1 - Q)
-2 [Q(k “p1)(k - p2) — wg(pl 'pz)]

=—6Q%(p1- k) +4(p2- Q)(p1- k) +4(p1- K)Q* — 4(k - Q)(p1 - k) + 205 (p1 - Q)
—4(k - p1)(k - p2) + 205 (p1 - p2)

1 1 1 1
v (5 - 2w3) 4 (5 - 2622) (s - Qw%;) —a(e—n) (E - 2w8)
2 1 2\ _ } 2 1 2 2 2 o 1 2 1 2
+ 2wy |+ 5Q 4(¢ wo | | n+ 5w ) +2wh | M +E—n Wy Q
2 2 2 2 2
= —2Q%¢ + wpQ? + 487 — 2Q%¢ — 2wié + QPwh — 487 + 28w + 48n — 2win
+ wSQQ — 2§w(2) —4&n + Qw(z)n + 2w(2)77 + wé‘ + ngmz + Qw(z)f — ngn — wg — ngz
= —4Q%¢ + 2wa Q% + 2wim?
= —4Q%¢ + 205 (Q* + m?) (A.69)

O00DOm?(CE —C3) 000000000000

2(k - Q)z - QWSQQ — w% [2(6 ~p2)2 + 2Q2 + Q2 _ 4@2]
ok QP Q2 ) w10

goog

— 23~ term

= {—8(/3-1 =) +4(Q + wh) — 2076QA Q% — m?) + 487 Q? (cf —(E—m —2m? + éwé)

F4BY(B —771)Pm® + (87Q% — 4B1wi(Q + m?)) (e - p2)*} (CF + C2)
+4{-4By(k - Q) + 261w Q> + 4Bywi (e - p2)*} (C3 — CF) (A.71)
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.y*00 (Cg+C%) 00

2[2(k-Q)(p1- Q) — 2(k - p1)Q* — (k- p1)Q° + 4(k - p1)Q?] (k- p2) — w§ [2(p1 - Q) (2 - Q) + (p1 - P2) Q7]
=4(k - Q)(p1- Q)(k - p2) +2(k - p1)(k - p2)Q* — 2w (p1 - Q) (p2 - Q) — wi(p1 - p2)Q?
—ite =) (n+ 5@ ) (n+ o) +2 (6 o8 ) (n+ o) @ - 28 (n+ 302) (- 3¢

—u (2 + €0 - 5ud - 50°) @
=4&n* 4+ 2(Q* + w)én + Q*wié — 4n® — 2(Q* + wi)n® — Q*win + 26nQ°

FWBQPE — BQM — JwiQ? — 2uBEn - EAQ? + wRQ + SR

_ wngQQ _ W8Q2€ 4 ngQ,n 4 %ngQ + %W8Q4
=4&n” +4Q%¢n — 40 — 2(Q* + wi)n® — wim’Q® + Wi Q*

1 1

u [4 (b’ ) 7) ~2(QP+w) + w—lcf] + Q@ — m?) (A-72)

(C2 +C3)(e- p2)? D0

4[2(p1- Q)(p2- Q) + (1 - p2)Q%] —8(p1- Q) (k- p2) —4 [2(k - Q)(p1 - Q) + (k- p1)Q°] + 4wi(p1 - Q)
=8(p1 - Q)(p2- Q) +4(p1 - p2)Q* — 8(p1 - Q)(k - p2) — 8(k - Q)(p1 - Q) — 4(k - p1)Q* + 4w (p1 - Q)

=5 (45 (6-5@2) 4 (m? € n- it - 500 ) @2

=8 (0 5@) (14 o) ~ste - (4 502) ~1 (€~ 58) @+ 48 (0 + 3¢
== 81Q% — 4Q*(Q* —~ m?) (A.73)
m3(CE — 03)00

BwiQ? +4(Q% — 4Q%)(p2 - €)?

=3wp Q% — 12Q%(p2 - ¢)° (A.74)
good
~2 term
= {4 (; = i) —2(Q* + wp) + 487 19Q% + YwiQ*(Q% — m?) + [—-87Q% — 47°Q*(Q* — m?)] (e ~p2)2} (C2 +C2)
+m?(CY — O3 [Bwi@Q® — 12Q%(p2 - €)?] (A.75)
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m?2 LC
=25 (1+D = 8) 50 {2D+2S—C— Lf(@)} (A.216)
0oo

2 2
/ dpBy (;w(%) Q*(m? +pi -py) = QW%LC(l +D-29) [2 — (2D +2S — C)Fl/z} (A.217)
0

2 1
J2 E/o dsoﬂ’yw(z)(Q?er?)WmQQ{ (By) " Hm? — (pi - py)] + mP(k - Q)* — zwi[m? + (p; - pf)]}

_om? 3 2CFE )y aD
27TD{<1+2DS>C+ {2D25+C+L+2DLF12 2L72D

+C(1+D—S)—LC(2D+25—C)(1+D—S)F—1/2]}
o™ (143D -8\ CE o+ =2—(c2+ D) - S(C+2
"5 { (143D 8) 0B [a+ Frglce+ D) - s+ 2)

_2 _ B C pe1/2
+C+2L[2D C(2D+25-C)(1+D-09)|F ]}
2 3 9

=2w”;{<1+2D—S> CE [a—Q(S—CL)—i—C+2L[2D—C(2D+25—C)(1+D—S)}F‘1/Q}}

(A.218)
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ooog
2(D+8)—C|(D—~S+1)=2D*-25?-C(D-8)+2(D+8S)-C
=2D* - 2t* —2D? —4D - CD+ S(2+C)+2D - C

=2 -2D-C(D+1)+S(2+C) (A.219)
t? term = CL—ML -2C (A.220)
0 term :CLHL[QD +2CD+C*(D+1) - S(2+C)C)
2
= 2CLS+ ———L[2D 420D+ C*(D +1
+ 513 2D + +C*(D +1)]

=(S—CL)? - 8%~ C?*L* + CLHLDD +2CD + C*(D +1)]

=(S—CL)?* - (A.221)

ooad
Jo = QW%Q { (1 + gp - s) CEla—2(S —CL) + ((S - CL)? — KQ)F‘1/2]} (A.222)

wiQ? —m—QC . 2m2l(1 +D-25)
°* 7D D
2 2
—9 <m> C(1+D-S) (A.223)
D
36° + 267+ 392 = (D>2 {3+2.2L1 +3-4L7 ! } (A.224)
m? f(e) fle)?
0oo

27
P
/ dpwiQ(36% + 2By + 397) = 5” [201)(1 +D-S) (3 FALFY? 4 12L2aF’3/2>} (A.225)
0

e 2 (3
Q*+m’=—-{1+5D-85 (A.226)
2.00 2
i 0P =" 2, @
/0 dpfy(k-Q)° = 7 D (20F + o 2)] (A.227)
@ -m?=2 (14 1p g (A.228)
=D 2 :
5.00
. 202 ! —1 =172 2 9 1 5 5 5
/0 Aoy Qg 28 0 b pp) P (k- Q) = W@ 4 pi- )
* 0
:%T {(1 +D - S)2DFEL [1 —2(8 — CL)F—1/2 +a ((S —CL)? - K2t2) F‘3/2” (A.229)
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10. 6.00

2m 1 1
2 9811 m2 _ p. . 201 M2 _ L, 2120 2 o
| et s (267 0 = i g) (k- Q) = 5B @2m 4 i)

27

- {;CDE [a —2(S—CL)+ ((S — CL)? - K2t2)F‘1/2] } (A.230)
U=S-CL (A.231)
ooooooood

_46'262m2

I=
3D

2 L 2 _ 3p_ —1j2 O
{(CV—i—CA)[S(l—&—D S)+4(1+2D S (2LF + 57 2)

+4C(1+ D - S) (1 +L(2+C - 4S)F*1/2> +2C0(1+D—9) (1 + g - S> (1 —4LF~Y% 4 4L2aF*3/2>

+4EL(1+ D = 5) (1 + g - S> (1 —2UF~? 4 a(U? - Kth)F*3/2)
3 2 2,2\ ;—1/2

+(1+5D-5 CE (a=2U +(U% - K F~'/?)

+(C\2/*O,24) [CD(IJerS) (3+4LF*1/2+12L2QF73/2) _9D <2LF71/2+% 72>

+6DEL (1 —UFV? 4 (U - KZtQ)F—W) (1+D-5)— %CDE (a —2U + (U2 - K2t2)F‘1/2)] }

(A.232)
16G?e*m? 9 9 D 3
(O — CR) [(1 LD S)W + J} } (A.233)
N:2+C’{1+L(2+C—4S)F*1/2} (A.234)
H= %C (1 4LFTY? 4 4L2aF—3/2) Y EL [1 —QUFV? 4 a(U? - K22) F—?’/?] (A.235)
M= (2LF—1/2 + 2 2) + EC [a — U + (U? — K2#2) F—l/Q] (A.236)
2L 4

W= iD {C(3+4LF 2 +1212%F" ) + 6LE [1 - 20F 2+ a (U2 - K22) F 2|} (A237)

__1 -1/2 , @ _1 _ 2 72,2\ —1/2
J = 2D(2LF + 5 2) 8CDE[a o0 + (U? — K*?)F } (A.238)

Q
If
[\S]

(A.239)

plk‘m
3
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[e’e) 1/2 1
(Gm 5 (x +y) o\ 1/2 1
Qe =6 = (ks T) /A ewiv+1 Tt @ / w1 W) dy/,ldwm(pm)

2
/ o / dz (1 SD++G;Z> [+ om—(@+y) (SI+ Gtz) /(D +2)F7] (A.240)
%(CV+CA) {(1+D—S)N+(1+D—S) <1—S+D)H+ (1—S+;D)M} O
+5 (C‘Q/ ~Ci)J+(1+D-S)W] (A.241)
N:2+C{1+L(2+074S)F*1/2] (A.242)
H= %c (1-4LF Y2 4 4L2aF /%) + EL 1 = 2UF Y2 4 o (U2 - K%) /2] (A.243)
M= (2LF‘1/2 + % - 2) + ETC [a —2U + (U* — K2#2) F—l/ﬂ (A.244)

°D {C (3 Y ALFY? 4 12L2aF’3/2) +6LE {1 —QUFY2 4 o (U? — K212) F*3/2] } (A.245)
J

- —fD (2LF—1/2 + ﬁ - 2) Lepe [a — U+ (U? - KQtQ)F—l/ﬂ (A.246)
a=U — Btz (A.247)
b=(1-22)"% (K2 - B2)"*t (A.248)
C =)D (A.249)
2y —1
D =) {xy (2= A7) (P =) P w + 72} (A.250)
4
T C+2-4CL (A.251)
F=a%>—-1° (A.252)
D 9 1/2
G=|1-—2*+= (A.253)
D2 (z +y)°
2
K=— % (A.254)
[B(C+2)"
D+2
S=[+DD+2)]"" (A.256)
U=S-CL (A.257)
_ ::% (A.258)
2
Al = ]Z;CT (A.259)
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OB U00O0Ooouoooooogd

program s_main

c c
c
c
c
c C
c
implicit none
C*
C*
character *256 nam_in
integer =4 num_06
parameter (num_06 = 6)
c+
ct+
Cx - get job name -----
call s_get job_name(nam_in)
C*
Cx - open file no. 6 -----
call s_open_file_06(nam_in, num_06)
C*
Cx - job control program -----
call s_contl(nam_in)
C*
cx - close file no. 6 -----
call s_flcls(num_06)
C*
C*

stop
end
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subroutine s_get_job_name(nam_in)

(9]

O O O O O O

implicit none

character *256 nam_in

call s ¢c256( nam_in)
call getarg(l, nam_in)

return
end

(9]
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subroutine s_c256(flname)

(9]

O O O O O O

C*

implicit none

character =256 flname
character *1  empty

parameter (empty = ")
integer *4 n256
parameter (n256 = 256)
integer *4 ic

do ic = 1, n256
flname(ic:ic) = empty
end do

return
end

(9]
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subroutine s_open_file_06(nam_in, num_06)

cC

v

(9]

O O O O O O

C*

C*

C*
C*

implicit none

character *256 nam_in

integer *4 num_06

character *256 flname, msg

integer *4 len_s , len_e
integer *4 i_form, i_stat
parameter (i_form = 0, i_stat = 1)
msg = 'lis’

call s_lenx(nam_in, len_s , len_e )
flname = nam_in(len_s:len_e)//msg(1:4)

----- open file no. 06 -----

call s_flopn(flname, num_06, i_form, i_stat)

return
end
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subroutine s_lenx(flname, len_s , len_e )

(9]

O O O O O O

C*

C*
C*

C*
C*

implicit none

character =256 flname
integer *4 len_ s , len_e

call s_lenl(flname, len_s )

call s_len2(flname, len_s , len_e)

return
end
subroutine s_lenl(flname, len )

(9]

(9]

O O O O O O

C*
C*

C*

implicit none

character *256 flname

integer *4 len
character *1  empty
parameter (empty = ")
integer =4 ic

(9]
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(¢

(@]

ic =0
10 continue
ic =ic + 1
if (ic .gt. 256)
1 then
write(6,9000)
end if
if (flname(ic:ic) .eq. empty) go to 10
len = ic
C*
C*
return
9000 format(flname is empty at s_lenl’)
end
subroutine s_len2(flname, len_s , len_e)
c
c
c
c
c
c
implicit none
C*
C*
character *256 flname
integer =4 len_s , len_e
character *1  empty
parameter (empty = ")
integer *4 ic
C*
C*
ic = len_s
10 continue
if (flname(ic:ic) .eq. empty)
1 then
len e = ic - 1
else
ic =ic +1
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if (ic .gt. 256)

1 then
len_e = ic
else
go to 10
end if
end if
C*
C*
return
end
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subroutine s_flopn(flname, numbfl, i_form, i_stat)

cC
v

O O O O O O

C*

C*

(9]

implicit none

character 256 flname
integer *4 numbfl, i_form, i_stat

if (i_form .eq. 0)

1 then
if (i_stat .eq. 0)
1 then
open(unit = numbfl, file = flname,
1 status = ’old’, access = 'sequential’,
2 form = ’formatted’, err = 900
else if (i_stat .eq. 1)
1 then
open(unit = numbfl, file = flname,
1 status = 'unknown’, access = 'sequential’,
2 form = 'formatted’, err = 900
end if

else if (i_form .eq. 1)

1 then

if (i_stat .eq. 0)
1 then

open(unit = numbfl, file = flname,

1 status = ’old’, access = 'sequential’,
2 form = 'unformatted’, err = 900

else if (i_stat .eq. 1)
1 then
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open(unit = numbfl,
status = ’'unknown’,

2 form = 'unformatted’, err
end if
end if
C*
C*
return

900 continue
write(6,9000) flname
9000 format(‘file open error at s_flopn',/,
1 'file name = ’, a32)
stop 99
return
end

file = flname,

access
= 900
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subroutine s_contl(nam_in)

(9]

O O O O O O

C*

C*

C*

C*

C*

C*
C*

C*

C*

C*

C*

C*

C*

C*
C*

C*
C*

(9]

implicit none

character *256 nam_in

include ’'zzcntl’

----- initial setting -----

call s_cnstx

----- input data -----
call s_input(nam_in)

----- setting the numbers -----
call s_set number

————— allocation -----
call s alloc

————— precondtion -----
call s_precon

————— photo neutrino emissivity -----

call s_emissivity

call s_output x(nam_in)
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return
end
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subroutine s_cnstx

(9]

O O O O O O

implicit none

————— physical constants -----
call s_cnstp

----- mathematical constants
call s_cnstm

------ parameters -----
call s_cnstc

return
end

subroutine s_cnstc

(9]

(@]

O O 0O o o0 o

C*

C*
C*

implicit none

include ’'zzpara’

(¢
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(9]

(9]

(9]

n02 =2
n_03 =3
no4 =4
C*
C*
return
end
subroutine s_cnstm
c
c
c
c
c
c
implicit none
C*
C*
include ’zzcnst’
C*
C*
pi = acos(-1.d0)
C*
C*
return
end
subroutine s_cnstp
c
c
c
c
c
c
implicit none
C*
C*
include ’zzcnst’
C*

(9]
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C*

hbar = 6.58211915d-16

s | = 2.99792458d8
e c = 16021892d-19
em = 0.5109989d6
kb = 8617343d-5

alpha = 1.d0/137.036d0

return
end
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subroutine s_input(nam_in)

(9]

O O O O O O

C*
C*

C*

implicit none

character *256 nam_in
character 256 flname, msg

integer *4 len_s , len_e
integer *4 numbfl

parameter (numbfl = 80)

integer *4 i_form, i_stat
parameter (i_form = 0, i_stat = 0)

include ’'zzcntl’

msg = .inp’

call s_lenx(nam_in, len_s , len_e )
flname = nam_in(len_s:len_e)//msg(1:4)
write(6,7000) flname

7000 format(a32)

C*
C*

C*

C*

C*

----- open input file -----
call s_flopn(flname, numbfl, i_form, i_stat)

read(numbfl, ) title

————— setting the temperature -----
read(numbfl, ) temper

(9]
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C*
C*

----- setting the dispersion relation -----
dsp op = 0 ;

= 1 ; Braaten & segel

= 2 ; Full

read(numbfl, ) dsp_op

————— setting the initial chemical potential

read(numbfl,  *) nyu_i

————— setting the density -----
————— rho_op = 0 : rho
= 1 : log(rho)
read(numbfl,  *) rho_op
read(numbfl, *) s _rho, e rho, d _rho

----- setting the partition number -----
nu : chemical potential
read(numbfl,  *) nu, nul, nu2

read(numbfl,  *) dis_g, dis_e, i_shif, j_shif

————— setting the partition number -----
nx . integration with respect to x
ny . integration with respect to y
nw . integration with respect to w
nt . integration with respect to t
nz . integration with respect to z

read(numbfl,  *) nx, ny, nw, nt, nz

return
900 continue
write(6,9000)

9000 format(’file open error’)

stop 99
return
end
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subroutine s_set_number

(9]

O O O O O O

implicit none

————— mesh no. of rho -----
call s_rho_mesh_no

return
end

(9]
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subroutine s_rho_mesh_no

(9]

O O O O O O

C*
C*

implicit none

integer *4 option
parameter (option = 1)

call s_rho_mesh_x(option)

return
end

(9]
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subroutine s_rho_mesh_x(option)

(9]

O O O O O O

C*

C*

C*
C*

implicit none

integer *4 option

include ’'zzcntl’
include ’'zzpara’
include 'zzwork’

if (option .eq. 1)

(9]

1 then
if (rho_op .eq. 0)
1 then
call s_rho_mesh_1
1 (d rho , s rho , e rho , r_mesh)

else if (rho_op .eq. 1)
1 then
call s_rho_mesh_3

1 (d_rho , s_rho, e rho, r_mesh)

end if

else if (option .eq. 2)

1 then
if (rho_op .eq. 0)
1 then
call s_rho_mesh_2
1 (rda(krp(

1)), d_rho , s rho , e_rho , r_mesh)
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C*

1

else if (rho_op .eq. 1)

then
call s_rho_mesh_4
(rda(krp(
end if
end if
return
end

1)), d_rho , s_rho , e rho , r_mesh)
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subroutine s_rho_mesh_1(div , S_pow , e pow , n_mesh)

cC
v

O O O O O O

C*

C*

C*
C*

implicit none

real =8 div
integer *4 s_pow , e_pow , n_mesh
integer *4 mm

mm = nint(1.d0/div)
n_mesh = 9 mm(e_pow - s _pow) + 1

return
end

(9]
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subroutine s_rho_mesh_2(rho , div , S_pow , e pow , n_mesh)

cC
v

O O O O O O

C*
C*

C*
C*

C*
C*

(9]

implicit none

real *8 rho , div

integer *4 s _pow , e_pow , n_mesh
real *8 dd

integer *4 pow , mm , ic , ip

dimension rho(n_mesh)

mm = 9nint(1.d0/div)

do pow = s_pow, e_pow-1
dd = 10.d0 ** pow
do ic = 1, mm
ip = ic + mm *(pow - S_pow)
rho(ip) = dble(ic) +div *dd
end do
end do
rho(n_mesh) = 10.d0 ** e_pow

return
end
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subroutine s_rho_mesh_3(div , sl_rho, el _rho, n_mesh)

cC
v

O O O O O O

C*

C*

C*
C*

(9]

implicit none

real *8 div , sl_rho, el_rho
integer *4 n_mesh
integer *4 mm

mm = nint((el_rho-sl_rho)/div)
n_mesh = mm + 1

return
end
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subroutine s_rho_mesh_4(rho , div , sl_rho, el _rho, n_mesh)

c c
c
c
c
c c
c
implicit none
C*
C*
real *8 rho , div , sl_rho, el _rho
integer *4 n_mesh
real =8 dd
integer *4 mm , ic , ip
Cx
C*
dimension rho(n_mesh)
C*
C*
mm = nint((el_rho-sl_rho)/div)
if (mm .eq. 0)
1 then
div = 0.d0
else if (mm .gt. 0)
1 then
div = (el_rho-sl_rho)/dble(mm)
end if
C* write(6,7000) mm, n_mesh

C* write(6,7010) div
7000 format(10i6)
7010 format(lp6el2.4)

C*
do ic = 0, mm
ip =ic+1
dd = dble(ic) =*div + sl _rho
rho(ip) = 10.d0 =+ dd
end do
C*
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return
end
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subroutine s_alloc

(9]

O O O O O O

C*
C*

implicit none
integer *4 ic
include ’zzcnst’
include 'zzcntl’
include ’zzpara’
include 'zzwork’
e allocation ----
krp(1) =1

krp( 2) = krp( 1)
krp( 3) = krp( 2)
krp( 4) = krp( 3)
krp( 5) = krp( 4)
krp( 6) = krp( 5)
krp( 7) = krp( 6)
krp( 8) = krp( 7)
krp( 9) = krp( 8)
krp(10) = krp( 9)
krp(11) = krp(10)
krp(12) = krp(11)
krp(13) = krp(12)
krp(14) = krp(13)
krp(15) = krp(14)
krp(16) = krp(15)
krp(17) = krp(16)
krp(18) = krp(17)

+ r_mesh
+ r_mesh
+ r_mesh
+ r_mesh
+ r_mesh

O O o o

nul
nul
nu2

ny
ny
ny

+ + + + + + + + + + + +

(9]
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C*

krp(19)
krp(20)
krp(21)
krp(22)
krp(23)
krp(24)
krp(25)
krp(26)
krp(27)
krp(28)
krp(29)
krp(30)
krp(31)
krp(32)
krp(33)
krp(34)
krp(35)
krp(36)
krp(37)
krp(38)
krp(39)
krp(40)
krp(41)
krp(42)
krp(43)
krp(44)
krp(45)
krp(46)
krp(47)
krp(48)
krp(49)
krp(50)
krp(51)
krp(52)
krp(53)
krp(54)

krp(18)
krp(19)
krp(20)
krp(21)
krp(22)
krp(23)
krp(24)
krp(25)
krp(26)
krp(27)
krp(28)
krp(29)
krp(30)
krp(31)
krp(32)
krp(33)
krp(34)
krp(35)
krp(36)
krp(37)
krp(38)
krp(39)
krp(40)
krp(41)
krp(42)
krp(43)
krp(44)
krp(45)
krp(46)
krp(47)
krp(48)
krp(49)
krp(50)
krp(51)
krp(52)
krp(53)

+ 0
+ 0
+ 0

+
>
c

+ 4+ 4+ + + + + + + + + + + + + + A+ A+ A+ + + + + + + + + + + + + +
=]
—

do ic = 55, mrsize

krp(ic) = krp(ic-1) + O
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C*

C*

C*

end do

kip( 1) =
kip( 2) =
kip( 3) =
kip( 4)
kip( 5)
kip( 6) =
kip( 7) =
kip( 8) =
kip( 9)
kip(10) =
kip(11) =

1

kip( 1)
kip( 2)
kip( 3)
kip( 4)
kip( 5)
kip( 6)
kip( 7)
kip(' 8)
kip( 9)
kip(10)

+ + 4+ + o+ o+ o+ o+ o+ o+
O 0Ooooooooo

do ic = 12, misize

kip(ic) = kip(ic-1) + O

end do

return
end
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subroutine s_precon

(9]

O O O O O O

C*

C*

C*

implicit none

integer *4 option
parameter (option = 2)
————— setting the densities

call s_rho_mesh_x(option)

return
end

(9]
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subroutine s_emissivity

(9]

O O O O O O

implicit none

real *8 rho

real *8

, nyu
zero , one

, lam

parameter (zero=0.d0, one=1.d0)

real *8 S X , SV
real *8 D , G
real *8 S , U
real *8 s a , S b
1 Y

real *8 lam_i

real =8 swl , s w2
1 ph_p , ph_m
integer *4 itype0, itypel

parameter (itypeO = 0, itype

, S W
, C
, Dm

, F

, S_ w3

(9]

, gam

, st

, S x1

, S.Z
, B , E , K
1H IM 7W
, syl , sl , S2

,ans_1 , ans 2 , ans_3 , ans_4

1=1)

151

, ip_t

, ip_z , ip_ul,

, X_min , X_max , shift ,

, h z1 |, h_z2

integer *4 ip_u , ipx ,ipy , ip_w

1 ip_x1

parameter (ip_u=1, ip_x=2, ip_y=3, ip_w=1, ip_t=2, ip_z=3,
1 ip_ul=4, ip_x1=5)

integer *4 ir , X , iy , iw ,
integer *4 nk , ha

parameter (nk = 1000)

real =8 b_w(0:nk)

real *8 suml , sum2 , sum3 , sum4
1 lam_nu, cc , wl , W2
real *8 v_ast , s k , mass , z tk
integer *4 ia , ia_str, nxx

integer *4 jcount

real *8 h d , h_a , h_b , h_c
real *8

Z min , z_ max , sum_bl, sum_b2, sum_b3, sum_b4



C*

C*
C*

C*
C*

C*
C*

integer

real *8

*4 b , hb
eps

parameter (eps = 1.d-6)

include 'zzcnst’
include 'zzcntl’
include ’'zzpara’
include 'zzwork’
————— initialization -----
jcount = 0
lam = k_b *temper/e_m
lam_i = 1.dO/lam
nyu = nyu_i
cc = 6.47623d16 *lam#x 5
call gaus_initlip_u , nu , itypel)
call gaus_init(ip_x , nx , itypel)
call gaus_init(ip_y , ny , itypel)
call gaus init(ip. w , nw , itype0)
call gaus_init(ip_t , nt , itype0)
call gaus_init(ip_z , nz , itype0)
call gaus_init(ip_ul , nul , itype0)
call gaus_init(ip_x1 , nu2 , itype0)
call gaus_pnt_inf(rda(krp( 21)), ip_u nu
call gaus_pnt_inf(rda(krp( 22)), ip_x , nx
call gaus_pnt_inf(rda(krp(  23)), ip_y ny
call gaus_pnt_fin(rda(krp( 24)),-one one
call gaus_pnt_fin(rda(krp( 25)), zero one
call gaus_pnt_fin(rda(krp( 26)),-one one
————— loop of density -----
do ir = 1, r_mesh
————— setting density -----
call s_set pnt (rda(krp( 1)), rho ir

----- debug -----
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write(6,7100) log10(rho)

————— setting the chemical potential -----
call s_calc_chem_pot

(rda(krp(  21)), rda(krp( 31)), rda(krp( 11)),
rda(krp(  12)), nyu , rho , lam , dis_g ,
ipu ,ip_ul, nu , nul , i_shif)

----- setting the gamma -----

call s_calc_gam
(rda(krp(  21)), rda(krp( 31)), rda(krp( 11)),
rda(krp(  12)),
gam , v_ast , nyu , lam , dis_g , pi
alpha
ipu ,ip_ul, nu , nul , i_shif, dsp_op)

----- setting the photon phase space -----

call s_calc_p phase
(rda(krp(  23)), rda(krp( 15)), rda(krp( 16)),
rda(krp(  17)), rda(krp( 21)), rda(krp( 31)),
rda(krp(  11)), rda(krp( 12)),
gam , vV_ast , nyu , lam , dis_g , pi
alpha
ipu ,ip_ul, ny , nu , nul , i_shif,
dsp_op)

na =0

shift = 0.d0

lam_nu = lam_i - nyu

————— debug -----

write(6,7000) -lam_nu

call s_bound_set _up

(b_w , lam_nu, shift , dis_e , na , nk ,
j_shif)

suml = 0.dO

sum2 = 0.d0

sum3 = 0.d0

sum4 = 0.d0

ia_str = 1
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C*
C*

na = na+ 1
do ia = ia_str, na
do ia = ia_str, ia_str
if (ia .lt. na)
then
x_min = b_w(ia-1)
X_max = b_w(ia)
nxx = nu2

————— partition -----
call gaus_pnt_fin
(rda(krp( 13)), x_min , x_max , ip_x1 , nu2
else if (ia .eq. na)
then
Nxx = nx
end if

————— loop of x -----
do ix = 1, nxx
doix =11

————— setting x -----

if (ia .lt. na)

then
call s_set pnt (rda(krp( 13)), s_x , IX , nx
s x1 = s x+lam_i

else if (ia .eq. na)

then
call s_set pnt (rda(krp( 22)), s x , ix , NX
S X = s_x+shift
s X1 = s_x+lam_i
end if
————— loop of y -----
do iy = 1, ny
doiy =1, 1
----- setting y -----
call s_set pnt (rda(krp( 23)), s_y , iy , ny
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C*
C*

call s_set pnt (rda(krp( 15)), s_k Y , ny
call s_set pnt (rda(krp( 16)), mass , iy , ny
call s_set pnt (rda(krp( 17)), z_tk , iy , ny
s yl = s_y+gam

----- loop of w -----
do iw = 1, nw
doiw=11

————— setting w -----

call s_set pnt (rda(krp(  24)), s w , iw ,

s Wl = s x1=x*s_yl
----- Nov. 10 2008 -----

S w2 = sgrt(s_x *(s_x+2.d0 =*lam_i) *s y=*(s_y+2.d0

s_ w3 = gam* 2/2.d0
s w2 = sgrt(s_x *(s_x+2.d0 =xlam_i)) =*s k
s_w3 = mass* 2/2.d0

Dm = 1.d0/(s_wl-s_ w2 =*s_w+s_w3)
D = lam_i * 2*Dm

S Wl = Dxlam*x 2% (s_x1+s yl) ** 2
s w2 = (D+2.d0)/s_wl

G = sqrt(1.d0-s_w2)

----- Nov. 10 2008 -----

C = lam#x 2+« game* 2+xD

C = lam#* 2xmass* 2*D

L = (D+2.d0)/(C+2.d0)
s wl = (2d0 *L-1.d0) =*s yl-s x1
s w2 = (s x1 +s yl) =G

B = s wl/s_w2
E = 4.d0/(C+2.d0-4.d0 *Cx L)
K = 2.d0/sqrt(E ~ *(C+2.d0))

write(6,7000) D, G, C, L, B, E, K

————— loop of t -----
do it = 1, nt
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doit =3, 3

————— setting t -----
call s_set pnt(rda(krp( 25)), s_t , it

S = sqgri(s_t * 2+Dx (D+2.d0))
U = S-C+L

----- Nov. 13 2008 -----

h a = KeKxs t s t

h b = UxBxs_t

h c = UrU-(K*K-BxB)*s_t *s_t
hd=hb+hbha=+hc

nb =1
if (h_d .gt. 0.dO)
then
nb =2
nb =1

h_z1 = (h_b-sqrt(h_d))/h_a
h_z2 = (h_b+sqgrt(h_d))/h_a
end if

sum_bl = 0.d0

sum_b2 = 0.dO

sum_b3 = 0.dO

sum_b4 = 0.d0

doib =1, nb
if (nb .eq. 1)
then

Z_min =-one
Z_max = one
else if (nb .eq. 2)
then
if (b .eq. 1)
then
Z_min =-one
Z_max = max(-one,h_z1)
else if (ib .eq. 2)
then
z_min = min(h_z2,0ne)
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Z_max = one

end if
if(abs(z_max-z_min) .It. eps)
then
ans_ 1 = 0.dO
ans 2 = 0.d0
ans_3 = 0.d0
ans_4 = 0.dO
go to 11
end if
end if

call gaus_pnt_fin
(rda(krp(  26)), z_min , z_max |,

ipz , nz )
----- loop of z -----
do iz = 1, nz
----- setting z -----
call s_set pnt
(rdatkrp(  26)), s_.z , iz , nz
sa=UB*s tx*xs z
s_b = sqrt(1.d0-s_z *s_7) »sqrt(K *K-B*B)*s_t

write(6,7000) s_a, s b
if (abs(s_a) .gt. abs(s_b))
then
————— debug -----
if (nb .eq. 1)
then
F = 1.d0/sqrt(s_a *S a-s_ b *s_b)
else
F = 0.d0
jeount = jcount + 1

write(6,7000) s a, s b, s a ** 2-S b x2S a,

Z_min, z_max
write(6,7000) U, B, s_t, s z,S,C,L
if (jcount .gt. 2000) stop 99
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end if
else
F = 0.d0
end if
N = 2.d0+C *(1.dO+L *(2.d0+C-4.d0 *S)*F)
s W3 = (UxU-K#Kxts t *s t) *F
s wl = 0.5d0 *Cx(1.d0-4.d0 *L*F+4.d0 *L*Lxs_axF* 3)
s w2 = ExLx(1.d0-2.d0 *UrF+s_a*s w3*FxF)
H = s wl+s w2
s wl = 2.d0 *LxF+s_a/(2.d0 *L)-2.d0
s w2 = 0.25d0 *ExCx(s_a-2.d0 *U+s_w3)
M = s wl+s w2
s wl = C+(3.d0+4.d0 *L+*F+12.d0 *L*L*s_a*F** 3)
s w2 = 6.d0 *L*Ex(1.d0-2.d0 *UrF+s_axs w3*F*F)
W = D/4.d0 = (s_wl+s_w2)
V = -0.5d0 *D+M
write(6,7000) F, N, H, M, W, V

s wl = (1.dO+D-S) =N
s w2 = (1.d0+D-S) +(1.d0-S+D/2.d0) +H
s w3 = (1.d0-S+1.5d0 *D)*M

sl = s wl+s_w2+s w3

s2 = V+(1.dOo+D-S) +*W

s w3 = (S+G=*s_t *s_z)/(D+2.d0)

s wl = 1.d0-s_w3

s W2 = (s xl+s yl) =*s w3

ph_m = s wl/(1.d0O+exp(-s_w2-nyu))

wl = s _w2-nyu
if (wl .gt. 0.d0)
then

ph_p = s_w1/(1.dO+exp(-w1))
else

w2 = exp(wl)

ph_p = s_wl*w2/(w2+1.d0)
end if

ans_ 1 = ph_m=+sl
ans_2 = ph_m+s2
ans_ 3 = ph_p *sl
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11

ans_ 4 = ph_p *s2

write(6,7010) iz, ans_1, ans_2, ans_3, ans_4

————— setting answer -----
call s _set _ans

(rda(krp(  32)), ans_1
call s_set_ans

(rda(krp(  33)), ans_2
call s _set _ans

(rda(krp( 34)), ans_3
call s_set_ans

(rda(krp( 35)), ans_4

end do

————— integration over z -----

nz

nz

nz

nz

call gaus_int fin(rda(krp( 32)), z_ min , z max ,

ans_ 1 , ip_z

nz

)

call gaus_int_fin(rda(krp( 33)), z_min , z_max ,

ans 2 , ip_z

nz

)

call gaus_int fin(rda(krp( 34)), z_min , z max ,

ans 3 , ip_z

nz

)

call gaus_int_fin(rda(krp(  35)), z_min , z_max ,

ans 4 , ip_z

continue
sum_bl = sum bl + ans_1
sum_b2 = sum_b2 + ans_2

sum_b3 = sum_b3 + ans_3
sum_b4 = sum b4 + ans 4
end do

----- phase space of t -----
s wl =st=*st/S
ans_1 = sum_bl *s wl

ans 2 = sum_b2 *s wl
ans_3 = sum_b3 *s wl
ans_ 4 = sum_b4 *s wl

write(6,7010) it, ans_1, ans_2, ans_3, ans_4
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----- setting answer -----

call s_set_ans(rda(krp(

call s_set_ans(rda(krp(

call s_set_ans(rda(krp(

call s_set_ans(rda(krp(
end do

————— integration over t -----

call gaus_int_fin
(rda(krp(
ip.t ,nt
call gaus_int_fin
(rda(krp(
ip.t ,nt
call gaus_int fin
(rda(krp(
ip_t , nt
call gaus_int_fin
(rda(krp(
ip_t ,nt

e phase space of w ---

36)), ans_1 , it
37)), ans_2 , it
38)), ans_3 , it
39)), ans_4 , it

36)), zero , one

)

37)), zero , one

)

38)), zero , one

)

39)), zero , one

)

s wl = 1.do/((Dm *Dm (D+2.d0))

s wl = 1.d0/(D
ans_1 = ans_1 *s_wl
ans_2 = ans_2 *s_wl
ans_ 3 = ans_3 *s_wl
ans 4 ans 4 s wl

« Dx (D+2.d0))

, nt

, ans_1

, ans_2

, ans_3

, ans_4

write(6,7010) iw, ans_1, ans_2, ans_3, ans_4

----- setting answer -----

call s_set_ans(rda(krp(

call s_set_ans(rda(krp(

call s_set_ans(rda(krp(

call s_set_ans(rda(krp(
end do

----- integration over w -----
call gaus_int_fin(rda(krp(

40)), ans_1 , iw
41)), ans_2 , iw
42)), ans_3 , iw
43)), ans_4 , iw

40)), -one , one
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ipw , nw )
call gaus_int_fin(rda(krp( 41)), -one , one
ipw , nw )
call gaus_int_fin(rda(krp( 42)), -one , one
ipw , nw )
call gaus_int_fin(rda(krp( 43)), -one , one
ipw , nw )
----- phase space of y -----
----- Nov. 10 2008 -----
s w2 = (s_x1+s yl) =sqri(s_y =*(s_y+2.d0
S w2 = (s_x1+s yl1) =z tk s _k=*exp(-s_yl)
s w3 = 1.dO-exp(-s_yl)

s wl = s w2/s w3

ans_1 ans_1 *s wl
ans_2 ans_2 *s_wl
ans_3 = ans_3 *s_wl
ans_ 4 = ans_4 *s_wl
write(6,7010) iy, ans_1,

————— setting answer -----
call s_set _ans(rda(krp(
call s_set_ans(rda(krp(
call s_set_ans(rda(krp(
call s_set _ans(rda(krp(

ans_2, ans_3, ans_4

44)), ans_1 , iy
45)), ans_2 , iy
46)), ans_3 , iy
47)), ans_4 , iy

end do

----- integration over y -----

call gaus_int_inf(rda(krp(
call gaus_int_inf(rda(krp(
call gaus_int_inf(rda(krp(
call gaus_int_inf(rda(krp(

----- phase space of x

44)), ans_1 , ip.y ,
45)), ans_2 , ip.y
46)), ans_3 , ip.y ,
47)), ans_4 , ip.y

wl = s_xl+nyu
sl = exp(-wl)
s W3 = sqgrt(s_x *(s_x+2.d0 =*lam_i))

s wl = s w3*s1/(1.d0+s1)
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w2 = s xl-nyu
if (w2 .gt. 0.d0)
then

s2 = exp(-w2)

S w2 = s w3*s2/(1.d0+s2)

else

s w2 = s _w3/(exp(w2)+1.d0)

end if
ans_ 1 = ans_1 *s wl
ans_2 = ans_2 *s_wl
ans_3 = ans_3 *s_w2
ans_4

ans 4 *s_ w2

————— setting answer -----

call s_set_ans(rda(krp(
call s_set_ans(rda(krp(
call s_set_ans(rda(krp(
call s_set_ans(rda(krp(

48)), ans_1 , ix
49)), ans_2 , ix
50)), ans_3 , ix
51)), ans_4 , ix

, NXX
, NXX
, NXX
, NXX

write(6,7010) ix, ans_1, ans_2, ans_3, ans_4

end do

————— integration over X -----
if (ia .lt. na)

then

call gaus_int_fin

(rda(krp(  48)), x_min
ip_x1 , nxx )

call gaus_int fin

(rda(krp(  49)), x_min
ip x1, nxx )

call gaus_int fin

(rda(krp(  50)), x_min
ip x1 , nxx )

call gaus_int_fin

(rda(krp(  51)), x_min
ip x1 , nxx )

else if (ia .eq. na)

then

X_max

X_max

X_max

X_max
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7000
7002
7010
7040
7060
7070
7100
7200

call gaus_int_inf(rda(krp( 48)), ans_1
call gaus_int_inf(rda(krp( 49)), ans_2
call gaus_int_inf(rda(krp( 50)), ans_3
call gaus_int_inf(rda(krp( 51)), ans_4

end if

suml = suml + ans_1
sum2 = sum2 + ans_2
sum3 = sum3 + ans_3

sum4 = sum4 + ans_ 4

ip_x
ip_x
ip_x
ip_x

write(6,7002) ia, ans_1, ans_2, ans_3, ans_4

end do
suml = cc*suml
sum2 = cc*sum?2

sum3 = cc*sum3
sum4 = cc*sum4

----- setting answer -----

call s_set ans(rdatkrp(  2)), suml , ir
call s_set_ans(rda(krp( 3)), sum2 , ir
call s_set_ans(rda(krp(  4)), sum3 , ir
call s_set ans(rda(krp(  5)), sum4 , ir

write(6,7010) ir, suml, sum2, sum3, sum4
end do
write(6,7200) jcount

return

format(1p8el2.4)
format(i4,1p8el2.4)
format(’emissivity =', i6,6x,1p6e12.4)
format(’error =', 1p8el2.4)
format('error-1 =",5i3,1p8e12.4)
format(error-2 =',4i3,1p8el12.4)
format('density =,f9.4)

format(’jount =",i10)

end
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subroutine s_set_pnt

(o]

o

1 (d . P . ip
c
c
c
c
c
c
implicit none
C*
C*
real =8 d )
integer *4 ip , n
C*
dimension d(n)
C*
C*
p = d(ip)
C*
C*
return
end
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subroutine s_calc_chem_pot

1 (x Y , X1
2 lam , dis_g ,
3 ipu ,ip_ul, nu
c C
c
c
c
c c
c
implicit none
C*
C*
real *8 X Y , x1 , yl
1 dis_g
integer *4 ip_u , ip_ul , nu , hul
real *8 eps
parameter (eps = 1.d-12)
integer *4 loopmx
parameter (loopmx = 50)
real *8 nyu o, nyu n, ff , p
integer *4 ic
C*
C*
dimension x (nu )
dimension y (nu )
dimension x1(nul)
dimension y1(nul)
C*
C*
ic =0
nyu_o = nyu
nyu_n = nyu
10 continue
ic =ic +1
C*
cx - setting the function ff -----

call s _set func_ff
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1 (ff , X Y , X1
2 nyu o , rho , dis_g ,
3 ip_u , ip_ul , nu , hul
C*
cx - setting the function fp -----
call s_set func_fp
1 (fp , X Y , X1
2 nyu o, dis g ,
3 ipu ,ip_ul, nu , hul
C*
C*
ww = ff/fp
nyu_n = nyu o - ww
write(6,7000) ic, nyu_n, nyu o, ww, ff, fp
if (abs(ww) .gt. eps)
1 then
if (ic .lt. loopmx)
1 then
nyu_o = nyu_n
go to 10
else
write(6,9000) ic, nyu_o, nyu_n, ww
stop 99
end if
end if
nyu = nyu_n
C*
C*

return

7000 format(i6,1pe22.14,1p6el2.4)

9000 format('program error found at s_calc_chem_pot',/,
1 i6,1p6el2.4)
end
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subroutine s_set func_ff

1 (ans , X Y , x1
2 nyu , rho , dis_g ,
3 ip , iq , nn , mm
c C
c
c
c
c c
c
implicit none
C*
C*
real *8 ans , X vy , X1 , yl
1 rho , dis_g
integer *4 ip , iq , nn , mm , i_shif
real =8 cc
parameter (cc = 2.92180d6)
real *8 gn , gp , Nyu_p , nyu_n
real =8 shift
integer *4 np , op_flg
parameter (np = 0, op_flg = 1)
C*
C*
dimension x (nn)
dimension 'y (nn)
dimension  x1(mm)
dimension y1(mm)
C*
C*
nyu_p = nyu
nyu_n =-nyu
C*
C*
Cx - setting the function gn -----

1
2

call s_calc_gn

(x Y
nyu n , dis_ g ,

, X1 , yl , gn
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C*

C*

C*
C*
C*

np , ip , iq , hn , mm , i_shif)

..... setting the function gp -----
if (op_flg .eq. 0)

1 then
shift = 0.d0
call s_calc_gn_inf
1 (x Y » gp , lam » Nyu_p
2 shift , np , ip , hn )
else if (op_flg .eq. 1)
1 then
call s _calc_gn
1 (x .Y , X1 , vyl , gp , lam
2 nyu_p , dis_g ,
3 np , ip , iq , Nn , mm , i_shif)
end if

ans = cc *(gn-gp) - rho

write(6,7000) gn, gp, lam, nyu_n, nyu p
return

7000 format(1p6el2.4)
9000 format('program error found at s_calc_chem_poy’,/,

1

i6,1p6el2.4)
end
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subroutine s_calc_gn

1 (x Y , X1 , yl
2 nyu , dis_g ,
3 np , ip , iq nn
c C
c
c
c
c c
c
implicit none
C*
C*
real *8 X Y , X1 , yl , ans
1 dis_g
integer *4 np , ip , iq nn mm
integer *4 nk , ha
parameter (nk = 1000)
real *8 b_w(0:nk)
real *8 lam_i , shift , lam_nu
real *8 S min , s max , sum , suml
integer *4 ic
C*
C*
dimension x (nn)
dimension 'y (nn)
dimension  x1(mm)
dimension  y1(mm)
C*
C*x - initialization -----
na =0
shift = 0.d0
lam_i = 1.d0/lam
lam_nu = lam_i + nyu
call s_bound_set _up
1 (b_w , lam_nu, shift , dis_ g , na
2 i_shif)
C*
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C*

C*
C*

sum = 0.dO

do ic = 1, na
s_min = b_w(ic-1)
S_max = b_w(ic)

————— partition -----
call gaus_pnt_fin

1 (x1 , S_min , s max , iq mm
————— setting the function -----
call s _set func_gn

1 (x1 .yl , lam_i , lam_nu, np
————— integration -----
call gaus_int_fin

1 (y1 , S_min , s max , suml | iq
sum = sum + suml

end do

————— setting the function -----

call s_set func_gn_inf

1 (x Y , lam , hyu , shift ,

2 np , nn )

————— integration -----

call gaus_int_inf

1 (y , suml , ip , nn

ans = lam # (3+np) *(sum + suml)

return
end
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subroutine s_calc_gn_inf

1 (x Y ,ans , lam
2 shift , np , ip , hn
c C
c
c
c
c c
c
implicit none
C*
C*
real *8 X Y , ans , lam , nyu
integer *4 np , ip , Nn
C*
C*
dimension  x(nn)
dimension y(nn)
C*
Cx - setting the function -----
call s_set func_gn_inf
1 (x Y , lam , nyu , shift ,
2 np , Nn )
C*
Cx - gauss integration -----
call gaus_int_inf
1 (y , ans , ip , nhn )
ans = lam *+ (3+np) *ans
C*
C*

return
end
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subroutine s_set_func_fp

1 (ans , X Y , x1
2 nyu , dis_g ,
3 ip , iq , nn , mm
c C
c
c
c
c c
c
implicit none
C*
C*
real *8 ans , X vy , X1 , yl
1 dis_g
integer *4 ip , iq , nn , mm , i_shif
real =8 cc
parameter (cc = 2.92180d6)
real *8 gn , gp , Nyu_p , nyu_n
real =8 shift
integer *4 np
parameter (np = 0)
C*
C*
dimension x (nn)
dimension 'y (nn)
dimension  x1(mm)
dimension y1(mm)
C*
C*
nyu_p = nyu
nyu_n =-nyu
C*
C*
Cx - setting the function gn -----
call s_calc_gnp
1 (x Y , X1 , yl , gn
2 nyu n , dis_ g ,
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C*

C*

C*
C*

9000 format('program error found at s_calc_chem_poy’,/,

1
2

1

————— setting the function gp
shift =

np

0.d0

call s_calc_gnp_inf

ans =

return

end

(x
np

cc *(gn+gp)

i6,1p6e12.4)

||p

1|p
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subroutine s_calc_gnp

1 (x Y , X1 , yl
2 nyu , dis_g ,
3 np , ip , iq nn
c C
c
c
c
c c
c
implicit none
C*
C*
real *8 X Y , X1 , yl , ans
1 dis_g
integer *4 np , ip , iq nn mm
real =8 ww
integer *4 nk , ha
parameter (nk = 1000)
real =8 b_w(0:nk)
real *8 lam_i , shift , lam_nu
real *8 s_min , S_max , sum , suml
integer *4 ic
C*
C*
dimension x (nn)
dimension y (nn)
dimension  x1(mm)
dimension yl(mm)
C*
Cx - initialization -----
na =0
shift = 0.d0
lam_i = 1.d0/lam
lam_nu = lam_i + nyu
call s_bound_set _up
1 (b_w , lam_nu, shift , dis_ g , na

2 i_shif)

174

, ans

mm

, lam

, i_shif

nk

, lam

, i_shif)

, nyu



C*

C*

C*

C*
C*

C*
C*

C*

sum = 0.d0

do ic = 1, na
s _min = b_w(ic-1)
s_max = b_w(ic)

————— partition -----
call gaus_pnt_fin
1 (x1 , S_min , s_max , iq , mm )

————— setting the function -----
call s_set_func_gnp

1 (x1 .yl , lam_i , lam_nu, np , mm
----- integration -----
call gaus_int fin

1 (y1 , S min , s max , suml , iq , mm

sum = sum + suml
end do

----- setting the function -----

call s_set func_gnp_inf

1 (x Y , lam , nhyu , shift ,
2 np , nNn )

————— gauss integration -----

call gaus_int_inf

1 (y , suml | ip , nn )
ans = lam # (3+np) *(sum+suml)

return
end
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subroutine s_bound_set_up

1 (b_w , lam_nu, shift , dis
2 i_shif)
c c
c
c
c
c c
c
implicit none
C*
C*
real =8 bw , lam_nu, shift , dis
integer *4 na , nk , i_shif
integer *4 m_div
integer *4 ic
C*
C*
dimension b_w(0:nk)
C*
cx - initialization -----
m_div = nint(-lam_nu/dis)
b_w(0) = 0.d0
if (m_div .gt. 0) na = m_div
na = na + i_shif
if (na .gt. nk)
1 then
write(6,9000) na
stop 99
end if
do ic = 1, na
b_w(ic) = b_w(ic-1) + dis
end do
if (na .gt. 0) shift = b_w(na)
C*
C*

return

na

9000 format('program error found at s_bound_set up : na =,i6)
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end
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subroutine s_set func_gn

(x Y , lam_i , lam_nu, np , hn
c c
c
c
c
o c
c
implicit none
C*
C*
real *8 X Y , lam_i , lam_nu
integer *4 np , nn
real *8 S , WW , wl , W2 , W3 , w4
integer *4 ic
C*
dimension x(nn)
dimension y(nn)
C*
C*
do ic = 1, nn
s = Xx(ic)
wl = (s+lam_i) =+ (1+np)
w2 = sqgrt(s  *(s+2.d0 =*lam_i))
wd = s + lam_nu
if (w4 .gt. 0.d0)
1 then
ww = exp(-w4)
w3 = ww/(1.d0o+ww)
else
w3 = 1.d0/(exp(w4)+1.d0)
end if
y(@ic) = wl *»w2xw3
end do
C*
C*
return
end
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subroutine s_set_func_gn_inf

1 (x Y , lam
2 np , nn )
c C
c
c
c
c c
c
implicit none
C*
C*
real =8 X Y , lam , nyu
integer *4 np , nn
real *8 S , lam_i , ww , wl
real =8 wb
integer x4 ic
C*
dimension x(nn)
dimension y(nn)
C*
C*
lam_i = 1.d0/lam
w4 = lam_i + nyu
do ic = 1, nn
s = Xx(ic) + shift
wl = (s+lam_i) =+ (1+np)
w2 = sqgrt(s  *(s+2.d0 xlam_i))
w5 = s+w4
if (w5 .gt. 0.d0)
1 then
ww = exp(-w5)
w3 = ww/(1.d0+ww)
else
w3 = 1.d0/(exp(w5)+1.d0)
end if
y(@ic) = wl »w2xw3
end do
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C*

return
end

181



subroutine s_set_func_gnp

(x Y , lam_i , lam_nu, np , hn
c c
c
c
c
o c
c
implicit none
C*
C*
real *8 X Y , lam_i , lam_nu
integer *4 np , nn
real *8 S , WW , wl , W2 , W3 , w4
integer *4 ic
C*
dimension x(nn)
dimension y(nn)
C*
C*
do ic = 1, nn
s = Xx(ic)
wl = (s+lam_i) =+ (1+np)
w2 = sqgrt(s  *(s+2.d0 =*lam_i))
w4 = s+lam_nu
if (w4 .gt. 0.d0)
then
ww = exp(-w4)
else
ww = exp(w4)
end if
w3 = ww/(1.dO+ww) xx 2
y(@ic) = wl *»w2xw3
end do
C*
C*
return
end
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subroutine s_set_func_gnp_inf

1 (x Y , lam
2 np , nn )
c C
c
c
c
c c
c
implicit none
C*
C*
real =8 X Y , lam , nyu
integer *4 np , nn
real *8 S , lam_i , ww , wl
real =8 wb
integer x4 ic
C*
dimension x(nn)
dimension y(nn)
C*
C*

lam_i = 1.d0/lam
w4 = lam_i + nyu
do ic = 1, nn
s = Xx(ic)+shift
wl = (s+lam_i) =+ (1+np)
w2 = sqgrt(s  *(s+2.d0 xlam_i))

wh = s+w4
if (w5 .gt. 0.d0)

1 then
ww = exp(-w5)

else
ww = exp(w5)

end if

w3 = ww/(1.dOo+ww) =+ 2
y(@ic) = wl +»w2xw3
end do
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C*

return
end
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subroutine s_calc_gnp_inf

1 (x Y , ans , lam
2 np , ip , nn )
c C
c
c
c
c c
c
implicit none
C*
C*
real *8 X Y , ans , lam , nyu
integer *4 np , ip , Nn
real *8 ww
C*
C*
dimension  x(nn)
dimension y(nn)
C*
Cx - setting the function -----
call s_set func_gnp_inf
1 (x Y , lam , hyu
2 np , nn )
C*
Cx - gauss integration -----
call gaus_int_inf
1 (y , ans , ip , nhn )
ans = lam *+ (3+np) *ans
C*
C*

return
end
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subroutine s_calc_gam

1 (x Y , X1 .yl , gam , v_ast ,
2 nyu , lam , dis_ g, pi , alpha ,
3 ip , iq , nn , mm , i_shif, dsp_op)
c C
c
c
c
c c
c
implicit none
C*
C*
real *8 X Y , X1 , yl , gam , v_ast ,
1 nyu , lam , dis_g , pi , alpha
integer *4 ip , iq , hn , mm , i_shif, dsp_op
real =8 cc
real *8 gnl , gn3 , gn5 , gpl , gp3 , gp5 ,
1 nyu_p , nyu_n
real =8 shift , omeg_1
integer *4 npl , np3 , nNp5
parameter (npl = -1, np3 = -3, np5 = -5)
integer *4 op_flg
parameter (op_flg = 1)
C*
C*
dimension x (nn)
dimension y (nn)
dimension x1(mm)
dimension yl(mm)
C*
C*
omeg_1 = 0.dO
cc = 4.d0 +alpha/3.d0/pi
nyu_p = nyu
nyu_n =-nyu
C*
Cx - setting the function gp_1 -----
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C*
C*

if (op_flg .eq. 0)

1 then

shift = 0.d0

call s_calc_gn_inf
1 (x Y , gpl , lam
2 npl , ip , nn )
else if (op_flg .eq. 1)
1 then

call s_calc_gn
1 (x Y , x1 , yl
2 nyu p , dis g ,
3 npl , ip , iq , nn
end if

————— setting the function gn_1 -----
call s_calc_gn

1 (x Y , X1 , yl
2 nyu n , dis g ,
3 npl , ip , iq , nn

----- setting the function gp_3 -----
if (op_flg .eq. 0)

1 then

shift = 0.d0

call s_calc_gn_inf
1 (x Y , gp3 , lam
2 np3 , ip , nn )
else if (op_flg .eq. 1)
1 then

call s_calc_gn
1 (x Y , X1 , yl
2 nyu p , dis_ g ,
3 np3 , ip , iq , nn
end if

----- setting the function gn_3 -----

call s_calc_gn

1 (x Y , x1 , yl
2 nyu n , dis_g ,
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C*

C*

3 np3 , ip , iq , nn , mm

gam
gam

cc*(2.d0 *(gpl+gnl)+gp3+gn3)
sqrt(gam)/lam

————— setting the function gp 5 -----
if (dsp_op .eq. 1)

1 then
if (op_flg .eq. 0)
1 then
shift = 0.d0
call s_calc_gn_inf
1 (x Y , gp5 , lam , nyu_p , shift ,
2 np5 , ip , nn )
else if (op_flg .eq. 1)
1 then

call s_calc_gn

, i_shif)

1 (x Y , X1 , yl , gp5 , lam

2 nyu p , dis_g ,

3 np5 , ip , iq , nn , mm , i_shif)
end if

----- setting the function gn_5 -----
call s_calc_gn

1 (x Y , X1 , yl , gn5 , lam

2 nyu n , dis g ,

3 np5 , ip , iq , nn , mm , i_shif)
omeg 1 = cc*(2.d0 *(gpl+gnl)+gp3+gn3-3.d0  *(gp5+gn5))
omeg_1 = sqgrt(omeg_1)/lam

end if

v_ast = omeg_1/gam

write(6,7000) gpl, gp3, gnl, gn3, gam, v_ast

return
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7000 format(1p6el2.4)

9000 format('program error found at s_calc_gam’,/,
1 i6,1p6el2.4)
end
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subroutine s_calc_p_phase

1 (ene , S k , mass , z tk , X Y
2 x1 , yl , gam )
3 v_ast , nyu , lam , dis_g , pi , alpha ,
4 ip , iq , ny , hn , mm , i_shif,
5 dsp_op)
o c
c
c
c
o c
c
implicit none
C*
C*
real *8 ene , s k , mass , z tk , x Y ,
1 x1 , yl , gam , v_ast , nyu , lam
2 dis g , pi , alpha
integer *4 ip , iq , ny , nhn , mm , i_shif, dsp_op
real =8 cc
C*
C*
dimension ene (ny)
dimension s_k (ny)
dimension mass(ny)
dimension z_tk(ny)
dimension x  (nn)
dimension y  (nn)
dimension x1 (mm)
dimension yl1 (mm)
C*
C*
Cx - dsp_op = 0 -----
if (dsp_op .eq. 0)
1 then
call s_calc_disp_00
1 (ene , S k , mass , z_tk , gam ny )
C*
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C*x - dspop =1 -
else if (dsp_op .eq. 1)

1 then
call s_calc_disp_01
1 (ene , S k , mass , z_tk , gam , v_ast ,
2 ny )
C*
Cx - dsp_ op = 2 -----
else if (dsp_op .eq. 2)
1 then
cc = 4.d0 +alpha/pi
call s_calc_disp_02
1 (ene , S k , mass , z tk , X Y
2 x1 .yl , gam , nyu , lam , dis_g ,
3 cc )
4 ip , iq , ny , nNn , mm , i_shif)
end if
C*
C*
return

7000 format(lp6el2.4)

9000 format('program error found at s_calc_phase’,/,
1 i6,1p6el2.4)
end
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subroutine s_calc_disp_00
1 (ene , S k , mass , z tk , gam , ny

cC
o

O O O O o O

C*
C*

C*

C*

C*

C*
C*

o

implicit none

real *8 ene , s k , mass , z_tk , gam
integer *4 ny
real *8 y

integer *4 iy

dimension ene (ny)
dimension s_k (ny)
dimension mass(ny)
dimension z_tk(ny)

do iy = 1, ny
y = ene(y)
s_k (iy) = sart(y * (y+2.d0 *gam))
mass(iy) = gam

z_tk(iy) = 1.dO

write(6,7000) iy, s_k(iy), mass(iy), z_tk(iy)
end do
return

7000 format(i3,1p6el2.4)
7010 format(lp6el2.4)
9000 format('program error found at s_calc_disp_00'/,

1 i6,1p6el2.4)
end
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subroutine s_calc_disp_01

1 (ene , S k , mass , z tk , gam , V_ast ,
2 ny )
c C
c
c
c
c c
c
implicit none
C*
C*
real *8 ene , S k , mass , z tk , gam , V_ast
integer *4 ny
real *8 y , gam2 , ws k , pi_it , d_pit
integer *4 iy
C*
C*
dimension ene (ny)
dimension s_k (ny)
dimension mass(ny)
dimension z_tk(ny)
C*
C*
gam2 = gamrgam
ws_k = 0.d0
do iy = 1, ny
y = ene(iy)+gam
C* write(6,7000) iy, gam, y, ws Kk

ws_k = max(ene(iy),ws_Kk)
call s_calc_appr_pi_t
(y , vast, gam2 , ws k , piit , dpit)
s_k (iy) = ws_k
mass(iy) = sqrt(pi_t)
z_tk(iy) = 1.d0/(1.d0+d_pi_t)
write(6,7000) iy, ene(iy), y, sqrt(y *y-pi_t)
write(6,7000) iy, s_k(iy), mass(iy), z_tk(y), z_tk(iy) *s_K(iy),
sqrt(ene(iy) * (ene(iy)+2.d0 *gam)), gam
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end do

C*
return

7000 format(i3,1p6el2.4)

7010 format(lp6el2.4)

9000 format('program error found at s_calc_disp_01'/,
1 i6,1p6el2.4)
end

196



subroutine s_calc_disp_02

1 (ene , S k , mass
2 x1 , yl , gam
3 cc ,
4 ip , iq , ny
c c
c
c
c
c c
c
implicit none
C*
C*
real *8 ene , s _k , mass , z_ tk
1 x1 , yl , gam , hyu
2 cc
integer *4 ip , g , ny , nn
real *8 vy ,ws k , pit ,dpit
integer *4 iy
C*
C*
dimension ene (ny)
dimension s_k (ny)
dimension mass(ny)
dimension z_tk(ny)
dimension x  (nn)
dimension y  (nn)
dimension x1 (mm)
dimension yl1 (mm)
C*
C*
ws_k = 0.d0
do iy = 1, ny
C* doiy =2, 2

yy = ene(iy)+gam

ws_k = max(ene(iy),ws_k)

call s_calc_full_pi_t
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1 (yy , ws_ k , pit ,dpit x
2 x1 .yl , lam , nyu
3 ip , iq , nn , mm
s_k (iy) = ws_k
mass(iy) = sqrt(pi_t)
z_tk(iy) = 1.d0/(1.d0+d_pi_t)

C* write(6,7000) iy, s_k(iy), mass(iy), z_tk(iy)
end do

C*

C*
return

7000 format(i2,1p6el2.4)

9000 format('program error found at s_calc_disp_02'/,
1 i6,1p6el2.4)
end
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subroutine s_set_ans

(o]

o

1 (d . P . ip
c
c
c
c
c
c
implicit none
C*
C*
real =8 d )
integer *4 ip , n
C*
dimension d(n)
C*
C*
diip) = p
C*
C*
return
end
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subroutine s_output_x(nam_in)

(9]

O O O O O O

C*

C*

C*

C*

C*
C*

(9]

implicit none

character *256 nam_in
character 256 flname, msg

integer 4 numbfi

parameter (numbfl = 80)

integer *4 i_form, i_stat

parameter (i_form = 0, i_stat = 1)
integer *4 len.s , len_e , lenl , len2

include 'zzcnst’
include 'zzcntl’
include ’'zzpara’
include ’'zzwork’

call s _lenx(nam_in, len_s , len_e )

call s c256(msg )

call s_c256(flname)

msg = '_rsl.csv’

call s_lenx(msg , lenl | len2 )
flname = nam_in(len_s:len_e)//msg(lenl:len2)

----- open result file -----
call s_flopn(flname, numbfl, i _form, i_stat)

call s_output_1
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C*
C*

(rda(krp(
rda(krp(

————— close result file
call s_flcls(numbfi)

return
end

1)), rda(krp(
4)), rda(krp(

2)), rda(krp( 3)),
5)), r_mesh, numbfl)
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subroutine s_output_1

1 (x , yl , y2 , y3 , Y4
2 nn , humbfl)
c C
c
c
c
c c
c
implicit none
C*
C*
real *8 X .yl , Y2 , Y3 , Y4
integer *4 nn , numbfi
integer *4 i_rho
C*
dimension x (nn)
dimension yl1(nn)
dimension y2(nn)
dimension y3(nn)
dimension y4(nn)
C*
C*
do i_rho = 1, nn
write(numbfl,7000) x(i_rho), log10(x(i_rho)),
1 y1(i_rho), y2(i_rho), y3(i_rho), y4(i_rho),
2 log10(y1(i_rho)+y3(i_rho)),
4 log10(abs(y2(i_rho))+abs(y4(i_rho)))
end do
C*
C*
return

c7000 format(1lpel2.4,0p5(,’,f8.4))

c7000 format(1lpel2.4,’,0pf8.4,1p4(’,’,e12.4))
7000 format(lpel2.4,’,0pf8.4,1p4(",’,e12.4),0p2(’,,f9.4))
7010 format(f8.4,6(’,’,f8.4))

7020 format(1lpel2.4,0p14(’,,f8.4))

end
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subroutine s_flcls(numbfl)

(9]

O O O O O O

C*
C*

implicit none

integer *4 numbfl

close(numbfl)

return
return
end

(9]
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